| Motorized Stage

X-axis Linear Ball Guide:PG413/PG513/PG615/PG715

74

PG413T-LA-C PG413T-LA-C4 PG413M-LA-C PG413M-LA-C4

the motor

abels pazlojo\

*The picture is an image.

M-LA-C[][]

PG413

3 [6 6] CCables, Positioning pin P. 1-207 ~
CkElectrical specification P.1- PG-041~
Stage table size/Travel distance Motor option Motor option
Code size Travel distance Code Specification Code Specification

. i MA | With electromagnetic brake(J42_100V)
Goniometer 413 | [J40mm C Standard(5 Phase stepping motor) ! i

- 513_| CJ50mm 13mm D | High-torque MB_| vith brake(42 2001)
615 | [160mm 15mm E | High resolution PA | aSTEP (AR Series)
715 | [(J70mm T 2 Phase stepping motor ZA_| aSTEP (AZ Series)

UA | Servo motor(J4)

* For Code T,2-phase stepping motor, our controller (DS102/112)

Connector specifications cannot be used.

Code Specification Application Motor )
M| Panel mount CIDJE]T B B sensor options
Pig tail C|D|E|T I Application Motor
T
Connector None MA[MB| PA|ZA[UA % Specification CJD[E[T|MA[MB]PA]ZA[UA
Blank | 3 Sensor(CWLS,0RG1,CCWLS) (K 3K B K K 3K 2K 2K )
4 | 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 3K 3K ) [ 3K )
L] Pane! mount Cable option Cable option (Motor: MA, MB,PA, Z4, EA, UG, UA)
Code Specification Cable type For 2 phase motor Code Specification
Pig tail Connector None falio 9
9 Blank | Cable is not included (Standard) = = Blank | Sensor cable 2m One end loose wire
A [2m D214-2-2F = 3 | Sensor cable 3m One end loose wire
B | 2m One end loose D214-2-2EK | DS1-2C-2-2EK 5 Sensor cable 5m One end loose wire
T - C |4m D214-2-4E = 3A | Driver Amplifier (3m Cable Set)
D | 4m One end loose D214-2-4EK | DS1-2C-2-4EK 5A | Driver Amplifier (5m Cable Set)
. E | Only connector (Cable is not included) = =
Linear = aix F_| Robot cable 2m D214-2-2R -
Ball *No common connector: The motor cable and sensor cable are g gol;ottcal:)lle im one end loose gzzztzézfg 5 'ZC_'Z’ZRK
not consolidated into a common connector. oot cable 4m o
J | Robot cable 4m one end loose|D214-2-4RK | DS1-2C-2-4RK
Sensor cover location *One end loose position to only stage opposite side.
— Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.
CAVE-X L position For 4 sensors, only the Code:Blank(no-cable) option is available.
Linear ball L % For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)
Opposite hand WOLIESIE (3) Motor () Cable/Driver combination
R The screwdriver (amplifier) cable ~ Blank 3 ) 3A 5A
Motor MA - MB/PA « ZA/UA MA<MB PA-7A UA  MA-MB PA-ZA UA
Sensor 2m 3m 5m 3m 5m
i Cable L 3m 5m
A sensor logic Electromagnetic brake None sm | — [ — sm [ — [ —
A [ AINC Encoder — | =] 3m — | =1 5m
B AINO. Driver (Amplifier) None Available
C N.C.ORG1 and ORG2 are N.O.
*0RG2 (slit origin sensor) is only available when 4 sensor
m specification is selected.
m Selection example;
. ” Size: []40 Connector specifica- Sensor cover location Sensor logic Motor option Sensor options
Deswe(tlig[[]):(nflca- Travel length: 13mm| 4+ tion « pigtail + L position + AAIIN.C. + C: Standard + |  Blank:3Sensor | —
PG413 PG413T PG413T-L PG413T-LA PG413T-LA-C PG413T-LA-C
m Cable option
+ A:2m PG413T-LA-CA




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PG413[]-LA-C PG513[]-LA-C PG615[]-LA-C PG715[]-LA-C
(Opposite hand) PG413[]-RA-C PG513[]-RA-C PG615[]-RA-C PG715[]-RA-C
=(Travel distance 13mm 15mm
8 Stage table size 40x40mm | 50x50mm 60x60mm | 70x70mm
%. Feed screw ( Ball screw) $6 Lead 1
§ 2|Guide Linear Ball Guide
?;g Main material— Surface finishing Stainless—Electroless nickel plating
gi Weight Pig tail 0.50kg 0.61kg 0.73kg 0.86kg
i Panel mount 0.49g 0.60kg 0.72kg 0.85kg
Resolution/Pulse 2um(Full)/1pm(Half)
MAX speed 10mm/sec
Uni-directional positioning accuracy 6um
= [Repeatability positioning accuracy +0.5um
% Load capacity 10kgf [98N]
2 . Pitch 0.22/yaw 0.17/ Pitch 0.14/yaw 0.10/ Pitch 0.08/yaw 0.07/ Pitch 0.03/yaw 0.03/
g Moment stiffness roll 0.12["¥N «cm] roll 0.06 [");N «cm] roll 0.03 [");N - cm] roll 0.01 [");N «cm]
£ |Lost motion 1pm
8 [Backlash 0.5um
S |Straightness 1um
Parallelism 15um
Motion parallelism 5um
Pitching/Yawing 15"/10"
o |Limit sensor Available
% Origin sensor (ORG1) Available
= [siit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-8 4 of M4-8

4 The SPEC varies depending on the motor.
(®When using the Z-axis, a normal load of 5 kgf should be used as a guide. It depends on load, Max speed, etc.

[l Resolution « MAX speed « Weight

Motor code C D E T
Type Standard High-torque High resolution 2 Phase stepping motor
O 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB —
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1pm 1um/0.5pm 5um/2.5um
Resolution i
M I/Zr((l) SLerrJesolution) 0.1ym 0.05um -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PGA13 Pig tail 0.50kg 0.54kg 0.59kg 0.63kg 0.50kg 0.54kg 0.50kg -
Panel mount 0.49kg 0.53kg 0.58kg 0.62kg 0.49kg 0.53kg 0.49kg —
PG513 Pig tail 0.61kg 0.65kg 0.70kg 0.74kg 0.61kg 0.65kg 0.61kg —
Weight Panel mount 0.60kg 0.64kg 0.69kg 0.73kg 0.60kg 0.64kg 0.60kg —
PGE15 Pig tail 0.73kg 0.77kg 0.82kg 0.86kg 0.73kg 0.77kg 0.73kg —
Panel mount 0.72kg 0.76kg 0.81kg 0.85kg 0.72kg 0.76kg 0.72kg —
PG715 Pig tail 0.86kg 0.90kg 0.95kg 0.99kg 0.86kg 0.90kg 0.86kg -
Panel mount 0.85kg 0.89kg 0.94kg 0.98kg 0.85kg 0.89%g 0.85kg —
Motor code MA - MB PA ZA UA
Type With electromagnetic brake[J42mm oSTEP (AR) aSTEP (AZ) AC servo motor(J4)
3 Sensor ARM24SAK AZM24AK HG-KR053
Motor model” 1 PKE545MC-A1
4 Sensor - - -
Step angle 0.72° - — —
Full/Half 2um/1pm
Resolution Micro step . 04um 1pm(Set to 1000P/R) 1pm(Set to 1000P/R) 22 Bit encoder
(1/20 On resolution)
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PG413 0.91kg 1.00kg 0.54kg — 0.54kg - 0.84kg —
Weight PG513 Connector 1.02kg 1.11kg 0.65kg - 0.65kg - 0.95kg -
PG615 None 1.14kg 1.23kg 0.77kg — 0.77kg - 1.07kg —
PG715 1.27kg 1.36kg 0.90kg — 0.90kg - 1.20kg —

*1 Model is our own management model.

*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.

abejg pazuoloN

Controller

Linear

Ball

CAVE-X

Linear ball

(180



Motorized Stage

X-axis Linear Ball Guide:PG413/PG513

2
o
= PG413T-L[J-C 5 | PGa13T-RO-C _ms
= 40 835 Knob Kaob 775 16,16
= 16 16 775 ) g . m
s ] 2

2 gSfEI*:ﬁ Hi:: ] I+ +§s§

e S P . ol Il 4 4=t
9 2 e p— EHEHE == e HHHEH= = H 2
g 8-M3 4DP 8-M3 4DP

(Bolt hole for M3)

(1))

28
4 [T207] 4
T—i
.

|
ﬂ‘
55
1_!
A {120 || 4
28

- 0 x: © Of - ® ] =1 [0 6 © 0
o [ D e
Slas ||| \ostimeor oagimawe/ | 45 ]| 5
= 32 2| T
PG413T-L[]-C4 1435 I PG413T-R[]-C4 1435
. 103.! 40
_ i
i DB
Goniometer [ A—
[ L == &
4-3.5THRU ¢6C'BORE

(Bolt hole for M3)

28 _

32| 32 |~

m e | El Sl g
G| 4

o6 50

.~ A
g P o fee oM &
SR 4(H7) 4DP D4HT) 40P 45l F
g 32 32 g
PG413M-L[J-C 1215 | PGa13m-RO-C s
40 83.5
Knob 83.5 40
3.5 16 16 715 Knob
‘_ne [y (—,‘ ~ o 77.5 16 16
T T AT ° °] ] ST+
- — — ©
Linear 8 ofF QE i+ 4 1 3 ;}"r
Ball 7 e etle ol lle vy |7
37 =l =t B e A
4-3.5THRU ¢6C’'BORE 8-M3 4DP 8-M3 40P
(Bolt hole for M3) (Boit hole for M3)

CAVE-X

Linear ball

S | [ =R

.
. % : - ﬁ 5]
g rry:
E|4s D4(HT)ADP oamnaor/ | 45 || £
32 2 I
PG413M-LJ-C4 s | Paatam-RO-C4
40 103.5 103.5 40
1616 91 o1 16,16
i Knob Knob [
m Al = ) L B s
- - o I =
o wE B I Eﬁ}( sEﬁﬂ— B 4 %s )
o kY 1, . .- a N
60| MELES F DT> TR L
4-3.5THRU $6C’BORE 8-M3 4DP 8-M3 4DP
\:‘ (Bolt hole for M3) (Bolt hole for M3)
= <
0100 | )
ovr | H e
& [ ] == &
’i $4(H7)4DP $4(H7)4DP 45 E
I 32 =




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Dimensions

PG513T-L[J]-C S
o
]
35 =
-
g N
|3 [}
g ] Q
: + (7))
42 40P | 4-3.5THRU (6C'BORE 5"
{Bolt hole for M3) y y {Bolt hole for M3)
12-M3 40P «Q
(1]
&
. T
= J A s
g g
Sas || ®4(H7)4DP PA(H7)4DP a5 || Z
40 40
1535 1535
PG513T-L[]-C4 5 o5 I PG513T-R[]-C4 105 )
220 ot ot o0 20
30
35 13 35
gl
kil Knob Knob
EI I ] 59 g
3% T El g 4 7
@ N IS . I*‘
o Al & el I | At i i
3 e p—t= S = S s =4 il
'4-3.5THRU ¢6C’'BORE 4-M2 4DP 4-M2 4DP. 4-3.5THRU ¢6C’BORE!
(Bolt hole for M3) 12-M3 40P 12-M3 40P, (Bolt hole for M3)

o o. o
Sy E
S £
I as || 4 (H7) 4DP D4 (H7) 4DP a5
4 I
1335 1335
PG513M-L[]-C _—_— | Pes1am-RO-C S
20 20 775 2020
30
13 [ 35
g 8 ‘
| &2 o 28 g s
R4 QE [T | Betis
T 4+ H HE:
B f 4 hille L ety
@ 1 - - )| L
. — P = i
4-M2 4DP 4-M24DP | 4-3.5THRU 6C'BORE
(Bolt hole for M3) 12-M3 4DP 12-M3 4DP (Bolt hole for M3)
< <
;i:arsl
S CAVE-X
<]

Linear ball

4
. i -
g s e 1 2
IS
S| a5 P4(H7)4DP P4(H7)4DP 45 F
40 w0 |
153.5 1535
PG513M-L[]-C4 5 T35 I PG513M-R[]-C4 035 %
20 20 91 ) ‘ 91 2020
30
35 13[]] 13 35
sl [T Knob Knob 2/
o ¢I1# T T % g g [+ =
1t = o H
5%8 i L o s S 2 . N
fulon: ol )t of
= Y = o T T .
] P e HIHE H &=
4-3.5THRU $6C’BORE 4-M2 4DP 4-M2 4DP 4-3.5THRU p6C'BORE
(Bolt hole for M3) 12-M3 4DP 12-M3 4DP (Bolt hole for M3)
<

28
41,20 | 4

4(H7)40P
4(H7)40P

45 || H4(H7)4DP P4(H7)4DP 45




abels pazlojo\

Linear
Ball

CAVE-X

Linear ball

Motorized Stage

X-axis Linear Ball Guide:PG615/PG715

Dimensions

PG615T-L[]-C

| Pe615T-RO-C
775
Knob
e TS kﬁﬁ\

U $8C'BOI
(Bolt hole for M4)

3
4 w3400/ 8-M4 40P

i

=
4
ol 55 P5 (H7)4DP 5 (H7)4DP
50
1635
PG615T-L[]-C4 | Pee15T-RII-C4 0
%_ 2
3 32 3
Knob, ‘ ‘ &
fm* T
T
SI le- o112«
+ 4 g |€
B o' o [ol T
o - 3
4-M3 4DP 4-M3 4DP
/4-4,5THRU G8C'BORE 4-4.5THRU G8CBORE
(Bolt hole for M4) 814 40P 814 4DP (Bolt hole for M4)
< <
<]
I~ =
3 5|
= =
b 55| ©5 (H7) 4DP @5 (H7) 4DP, 55| B
50 50
PG615M-L[ ]-C 60 125 835 I PG615M-R[]-C 55 1435 &
75 715 %_ 2
7«‘»’—_—"% Knob Knob ‘ ‘ 31
I T /é o T
- © + 11
d $ 8| cof
N ol O+, 48
S » :["_‘Tﬂ‘ﬂ ul u¢ % /% =

5 (H7)40P

@5 (H7)40P

EER
5
. E
5 i ° e
E\ ° o
Slss | @5 (H74DP @5 (H7)4DP.
50
PG615M-LJ-C4 | Pe615M-RO-C4
1035 1085 60
91 o1 %5__ %
|32
Knob Knob &)
T T
C N\ {1 7
E geE 8 Rt
. . 4 E
QEsE a=ct =T 1o ¢ ol -
4-M340p smaaop | 5-Ma4pp A-45THRU GBC'BORE

@5 (H7)4DP

=]

5 (H7)40P _|

(Bolt hole for M4)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Dimensions

QPARTER [EM

PG715T-L[1-C

'4-4.5THRU $8C'BI

'BORE
(Bolt hole for Md)

| Pa715T-RO-C

153.5

z
2
El

P12
4
#
N
+

S T Ty
IS i R 1|

abejg pazuoloN

XY CXRETY
. .. p
&
g 0 0 g O g|
i - - - =il _
60 60
173.5 173.5
PG715T-L[]-C4 70 1035 PG715T-R[]-C4 035 70 W
30 30 91 91 30 30
40 0
: . 1 I 3
o o
K = 1 Knob Knob 1 =
A RN - o ? MBEN
E o | S g i+ H Rl
o | 77§\+ 4 # 4;77 S
PRSI T e TR T PRI .
L e S = =l . 5 2 Goniometer
8-M3 4DP 8-M3 40P
4-4,5THRU GBC'BORE 84 40P 8-\ 40P 4-4.5THRU QBC'BORE
(Bolt hole for M4) (Bolt hole for M4)
- . otary
ﬁlé !
) m

Controller
= ¢
E ) o © ©° E
“lss || @5 (H7) 40P @5 (H7) 40P, 55|
60 60
153.5 153.5
PG715M-L[]-C 5 | Pa715M-RO-C 5
775 775 30 30
140 2
Knob Knob IR
g g FIrF 119
£ o TR
. a7 .
R = Esnahi ¢ ¢¢+ 74 Linear
X £l Ball
8-M3 4DP 8-M44DP 4-45TH

CAVE-X

Linear ball

I 74—"—"—; ]
- B N Y P
- . Cross
. B _ & Roller
5 (H7)4DP 5 (H7)4DP _lLss B
60
1735 I PG715M-RD'C4 1735
103.5 103.5 70 =
91 91 30__30 Slide
40 -
T o 3 Guide
Kaob Knob f& =3 | E
I i\ - 4 T8
&l 8 i+ AR
° # g 8
HEEE == =M Y o " o /] _
2 g
8 -M3 4DP 8-M4 4Dp  4-4.5THRU ¢8C'BORE

5 (H7)4DP

55

5 (H7)4DP

(Bolt hole for M4)

5 (H7)4DP

o
o

1




APNRT
IR | x-axis Linear Ball Guide:PG413/PG513/PG615/PG 715 b PART D

abelg pazuolo

XY

Goniometer

Controller

Linear
Ball

CAVE-X

Linear ball

80

ot
S
)

| Motorized Stage

Dimensions

Side view

=

<{

LS

C Standard motor

005C-90215P-1
PK523HPB-C15

D High-torque
PK525HPB-C1

PK525HPB

*Motor model: Upper 3 sensors/Lower 4 sensors

Top view Connector : T/M Common

— |

¥

ah

E High resolution

PK523HPMB-C1
PK523HPMB

T 2 Phase stepping motor
SJA28N32-0674B-01

) A(mm) B(mm) C(mm) D(mm) LS(mm)
@
e ] e 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
T 16.8 16.8
PG413 M 18.0 2.0 123.5 143.5
PG513 C '\TA }gg }sg 1335 153.5
E 128 T 4 4 4 4 16l8 16l8 0 0
PG615 T m 168 168 143.5 163.5
T 16.8 16.8
PG715 m 168 168 153.5 1735
) A(mm) B(mm) C(mm) D(mm) LS(mm)
@
LI LIS e 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
T 16.8 16.8
PG413 m 180 2.0 143 163
PG513 '\TA :gg }Sg 153 173
D 28 T 4 4 4 4 16l8 7 6l8 0 0
PG615 m 168 168 163 183
T 16.8 16.8
PGr1S i 16.8 16.8 s 198
MA MB With electromagnetic brake
WOIANORE PKES45MC-A1
*Included driver When selecting MA: 100V, When selecting MB: 200V
) A(mm) B(mm) C(mm) D(mm) LS(mm)
C
o] RISy LS 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG413 A 1 1 173 180
PG513 183 190
PG615 NiB 142 T 1 1 " " 16.8 16.8 0 0 93 | 200
PG715 203 210
PA QSTEP (AR Series) ZA aSTEP (AZ Series)
[VINGIENORE ARM24SAK VIITENNNE AZM24AK
. A(mm) B(mm) C(mm) D(mm) LS(mm)
©
e Iy IEErED 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG413 144
PG513 154
PG615 PA 28 T 4 - 4 - 16.8 - 0 - 164 -
PG715 174
PG413 153.5
PG513 163.5
G615 ZA 28 T 4 - 4 - 16.8 - 0 = 1735 -
PG715 183.5
UA Servo motor (J4[Mitsubishi Electric corporation])
VRIEEE HG-KR053
) A(mm) B(mm) C(mm) D(mm) LS(mm)
C
e IS LErere 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG413 175.9
PG513 185.9
G615 UA 140 T 10 - 10 — 16.8 - 0 - 195.9 -
PG715 205.9




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

When our controller is used requirement

Motor option C| Standard motor
D High-torque Cable selection Controller
C Standard motor Stage main body E High resolution Code: A,C,FH DS102/112 g
’ o
=
€005C-90215P-1 (3 sensor) o
PK523HPB-C15 (4 sensor) | | . =
D High-torque ‘rg
- o5~
PK525HPB-C1 (3 sensor) (Available for motor and sensor)  © P.1-195 ustomersareeqiredTolprepare o
PK525HPB (4 sensor) g a}gﬂdg%lﬂmof DC24V power, controller and PLC by themselves. (7))
E High resolution E High resolution Cable selection gmmEmmmmmmmmmmmmmnn——. 'Y
Stage main body T 2 Phase stepping motor Code: B,D,G,J Driver selection H 4 wer 1 : «Q
PK523HPMB-C1 (3 sensor) P 11 pows 1 : )
PK523HPMB (4 sensor) 3 ,\ i -
> '_ DLk e, memeeean
T | 2Phase stepping motor R £ ! IController i . PLC & ©
[Motor mode! RN TEET g R G — H
SJA28N32_0674B_01 Tl mm
(Available for motor and sensor) @ P.1-195~ -
Code (DMotor model (2Motor + Sensor cable selection Code (®Motor model (2Motor « Sensor cable selection
3 Sensor C005C-90215P-1 A+B-C-D:D214-2-[IE(K) 3 Sensor PK523HPMB-C1 A-B-C-D:D214-2-CIEK)
C E
4 Sensor’ PK523HPB-C15 FeG-H-J:D214-2-[IRK) 4 Sensor’ PK523HPMB FeGeHe-J:D214-2-[IRK)
. 3 Sensor PK525HPB-C1 A-B-C-D:D214-2-[JEK) . 3 Sensor SJA28N32-0674B-01 B - D: DS1-2C-2-[JEK
4 Sensor PK525HPB FeG-«H-J:D214-2-[IRK) 4 Sensor — G+ J i DS1-2C-2-[JRK
* For 4 sensors, only the Code:Blank (no-cable) option is available.
Motor option
i S bl
MA With electromagnetic brake DC24V power, controller and PLC by themselves|
:
Sensor —
MB piesasuic.at Goniometer
*Driver
MA: 100V
MB : 200V @ MA with ic brake (2)Cable for (@Motor driver Otary
MB With ic brake €lec ic brake (selection) g
, )
| S .
V4 I ——
Controller
Code (DMotor model (@Motor « Sensor cable selection (3Motor + Sensor cable selection (@Driver selection
MA 3A : CCO30VPFB 3A - 3 : PG-H-ASSY5-3000 [MA]J3A - 5A : RKSD503M-A
. PKE545MC-A1 5A : CCO50VPFB 5A - 5 : PG-H-ASSY5-5000 [MB]3A - 5A : RKSD503M-C
i Blank « 3 + 5 : Not included None : PG-H-ASSY5-2000 Blank « 3 -+ 5 : Not included

Motor option

Stage main body (3Sensor cable(Selection) All customers are required to prepare
PA GSTEP (AR Series) DC24V power, controller and PLC by themselves,
PLLEEEELTEEEETEEEEELEES
Sensor L . 1
ARM24SAK ] .
) 1  memmmmaw H
ZA OSTEP (AZ Series) * * Power supply & :
{ B | ]
®PAlaSTEP(AR) @Motor cable @Motor drive :  emm——— l
AZM24AK ZA aSTEP(AZ) (Selection) (Selection) 0 E : 1
© » Controller PLC - :
Vg ,\ LSRR N -
I— — ,'0 PR S '
Ty
Code (DMotor model (2Motor - Sensor cable selection (3Motor - Sensor cable selection (@Driver selection
3A : CCO30VA2R2
3A « 5A : ARD-K
PA ARM24SAK 5A : CC0O50VA2R2 . .
Blank + 3 5 : Not included 3A - 3 : PG-H-ASSY5-3000 Blank + 3 + 5 : Not included
A C COBO;IZZRZ 5A - 5 : PG-H-ASSY5-5000
ZA AZM24AK 5A : CCO50VZ2R2 Blank - PG-H-ASSYS-2000 SA < SR L AZDK
Blank - 3 » 5 * Not included Blank + 3 + 5 : Not included

Motor option

UA Servo motor

Stage main body

(@Sensor cable(Selection)

All customers are required to prepare
DC24V power, controller and PLC by themselves

Sensor :
HG-KR053 0‘ '
. '
| ]
(@Motor cable (®Servo amplifier esmmwmmw, 3
(DUA'Servo motor (Selection) (Selection) PLC H X
| ]
4 \ TR -
I — o N :
Ve 4 SrrooCrCCCCCCCoocoooocy
(3Encoder cable(Selection)
Code Motor model Motor « Sensor cable selection Encoder cable 3m Motor + Sensor cable selection AC servo amplifier
3A : SVPM-J3HF1-B-3-02S 3A : SVEM-J3HF1-B-3 3A - 3 : PG-H-ASSY5-3000 3A - 5A © MR-J4-10A
UA HG-KR053 5A : SVPM-J3HF1-B-5-02S 5A : SVEM-J3HF1-B-5 5A + 3 : PG-H-ASSY5-5000 Blank + 3 . 5 - Notincluded
Blank + 3 + 5 : Not included Blank + 3 + 5 : Not included Blank : PG-H-ASSY5-2000 )

Linear
Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide




abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

S
G)

| Motorized Stage

X-axis Linear Ball Guide :PG430/PG530/PG650/PG750

PG430T-LA-C

PG430T-LA-C4

PG430M-LA-C

PG430M-LA-C4

*The picture is an image.

PG 430

M-LA-

6] 6]

CCables, Positioning pin P. 1-207 ~

=/

Freely

customize =
the motor

CkElectrical specification P.1- PG-041~

n Stage table size/Travel distance

E Motor option

E Motor option

H Connector specifications

Code Specification Application Motor
M Panel mount C|D|E|T
T Pig tail C|D|E|T
Connector None MA|MB | PA | ZA | UA
M Panel mount
Pig tail Connector None
T E

E Sensor cover location

*No common connector: The motor cable and sensor cable are
not consolidated into a common connector.

*For Code T,2-phase stepping motor, our controller (DS102/112)

cannot be used.

Code size Travel distance Code Specification Code Specification
430 | 40x60mm 30mm C Standard(5 Phase stepping motor) MA W?m brake([142_100V)
530 | 50x70mm D | High-torque MB With . brake([142_200V)
650 | 60x100mm somm E | High resolution ;: gg‘; E:; ::r’::;)
750 | 70x110mm T 2 Phase stepping motor

UA Servo motor(J4)

A B sensor options
I Application Motor
Code Specification CTD T ET T [NAIMBIPATZA T UA
Blank | 3 Sensor(CWLS,0RG1,CCWLS) (I B 3K 3K 3K 2K 2K 3K )
4 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 3K 3K ) [ 3K )
Cable option Cable option (Motor: MA, MB, PA, ZA, EA, UG, UA)
P For 2 phase motor
Code Specification Cable type Cf?ble ype Code Specification
R Cable s notincuded (Sandard - — Blank | Sensor cable 2m One end loose wire
Gl 2m DAKHa7E — 3| Sensor cable 3m One end loose wire
B | 2m One end loose D214-2-2EK |  DS1-20-2-26K -
5 Sensor cable 5m One end loose wire
U 4 D212 — 3A | Driver Amplifier (3m Cable Sef)
D | 4m One end loose D214-2-4EK | DS1-2C-2-4EK 5A | Driver Ampliﬂer (5m Cable Se)
E | Only connector (Cable is not included) - - p
F | Robot cable 2m D214-2-2R =
G| Robot cable 2m one end loose D214-2-2RK | DS1-2C-2-2RK
H | Robot cable 4m D214-2-4R =
J_ | Robot cable 4m one end loose D214-2-4RK | DS1-2C-2-4RK

*One end loose position to only stage opposite side.

Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.

L position For 4 sensors, only the Code:Blank(no-cable) option is available.
" % For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)
Opposite hand A @ Motor @ Cable/Driver combination
R ﬁﬁ The screwdriver (amplifier)cable Blank 3 5 3A 5A
Motor MA-MB/PA:-ZA/UA MA-MBPA-ZA UA MA:-MBPA:-ZA UA
Sensor 2m 3m 5m 3m 5m
B sensor logic Cable Motor 3m 5m
Electromagnetic brake None am [ — [ — sm | — [ —
A AIN.C. Encoder - | =1 3m - — | 5m
B AllN.O. Driver (Amplifier) None Available
C N.C.ORG1 and ORG2 are N.0.
*ORG2 (slit origin sensor) is only supported when 4-sensor
specification is selected.
Selection example
. . |Stage table size: 40x60mm| Connector type Sensor cover location Sensor logic Motor option Sensor options
Desnrettli g[r]JSeCIflca- Travel length: 30mm | -+ T: Pigtail + L position + AAlIN.C. + C: Standard + Blank: 3Sensor | —
PG430 PG430T PG430T-L PG430T-LA PG430T-LA-C PG430T-LA-C
Cable option
+ A:2m PG430T-LA-CA
PG430T-LA-CA



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PG430[]-LA-C PG530[]-LA-C PG650[ ]-LA-C PG750[]-LA-C
(Opposite hand) PG430[]-RA-C PG530[]-RA-C PG650[ ]-RA-C PG750[ ]-RA-C
g Travel distance 30mm 50mm
S [Stage table size 40x60mm [ 50x70mm 60x100mm [ 70x110mm
§. Feed screw ( Ball screw) $6 Lead 1
§ 2 |Guide Linear Ball Guide
}'j; Main material— Surface finishing Stainless—Electroless nickel plating
gﬁ Weight Pig tail 0.64kg 0.77kg 1.09kg 1.26kg
i Panel mount 0.63kg 0.76kg 1.08kg 1.25kg
Resolution/Pulse 2um(Full)/1pum(Half)
MAX speed 10mm/sec
Uni-directional positioning accuracy 12um
= [Repeatability positioning accuracy +0.5um
% Load capacity 10kgf [98N]
2 . Pitch 0.24/yaw 0.18/ Pitch 0.12/yaw 0.13/ Pitch 0.05/yaw 0.05/ Pitch 0.03/yaw 0.03/
% Moment stiffness roll 0.26 ["\;N «cm] roll 0.1 ["/yN - cm] roll 0.05 [");N - cm] roll 0.03 [");N « cm]
£ |Lost motion 1pm
8 [Backlash 0.5um
S |Straightness 2um
Parallelism 15um
Motion parallelism 10pm
Pitching/Yawing 20"/15"
o |Limit sensor Available
% Origin sensor (ORG1) Available
= [siit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-8 4 of M4-8

4 The SPEC varies depending on the motor.

(®When using the Z-axis, a normal load of 5 kgf should be used as a guide. It depends on load, Max speed, etc.

[l Resolution - MAX speed - Weight

Motor code (] D E T
Type Standard High-torque High resolution 2 Phase stepping motor
NP 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB —
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1pm 1pm/0.5pm 5um/2.5ym
Resolution i
xl |/czrg fthne?esolution) 0.1um 0.05pm -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PGA30 Pig tail 0.64kg 0.68kg 0.73kg 0.77kg 0.64kg 0.68kg 0.64kg -
Panel mount 0.63kg 0.67kg 0.72kg 0.76kg 0.63kg 0.67kg 0.63kg —
PG50 Pig tail 0.77kg 0.81kg 0.86kg 0.90kg 0.77kg 0.81kg 0.77kg -
Weight Panel mount 0.76kg 0.80kg 0.85kg 0.89kgf 0.76kg 0.80kg 0.76kg -
PGB50 Pig tail 1.09kg 1.13kg 1.18kg 1.22kg 1.09kg 1.13kg 1.09kg —
Panel mount 1.08kg 1.12kg 1.17kg 1.21kg 1.08kg 1.12kg 1.08kg -
PGT50 Pig tail 1.26kg 1.30kg 1.35kg 1.39kg 1.26kg 1.30kg 1.26kg —
Panel mount 1.25kg 1.29kg 1.34kg 1.38kg 1.25kg 1.29kg 1.25kg —
Motor code MA - MB PA ZA UA
Type With electromagnetic brake[J42mm OSTEP (AR) aSTEP (AZ) AC servo motor(J4)
TR 3 Sensor PKESASMC-AT ARM24SAK AZM24AK HG-KR053
4 Sensor — - —
Step angle 0.72° - - -
Full/Half 2um/1um
Resolution Micro step . 0.4um 1pm(Set to 1000P/R) 1pm(Set to 1000P/R) 22 Bit encoder (4194304P/R)*?
(1/20 On resolution) ’
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PG430 1.05kg 1.14kg 0.68kg — 0.68kg - 0.98kg —
Weight PG530 Connector 1.18kg 1.27kg 0.81kg — 0.81kg - 1.11kg —
PG650 None 1.50kg 1.59kg 1.13kg - 1.13kg - 1.43kg —
PG750 1.67kg 1.76kg 1.30kg - 1.30kg - 1.60kg -

*1 Model is our own management model.

*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.

abejg pazuoloN

Controller

Linear
Ball

CAVE-X

Linear ball

7

(=]




abels pazlojo\

XYZ

Goniometer

HEOHEE RN

Linear
Ball

CAVE-X

Linear ball

Slide
Guide

70

Motorized Stage

X-axis Linear Ball Guide:PG430/PG530

Dimensions

PG430T-L[]-C _w | PG430T-R[-C _w
60 69 Ko (aob 69 60
35 16,16 16,16 35
- 2 2 i I
o FenhEai=0k TET = g
o 23;E—+ w5 | (][ TH K18+ e
Bl lie 4 F lok § . Hel 1 4+ 4+ 41 1%
3 i —— = = HiH e J 3
/4-3.5THRU ¢6C'BORE 8-M3 40P 8-M3 40P 4-3.5THRU (6C'BORI
(Bolt hole for M3) (Bolt hole for M3)
f‘ilg ‘1 Lmu@u - mﬂ T T " e mzawl tc;[
<[~ 52 52 e
X . % % é + T
g . P o o o Py
Elas | D4 (H7)4DP 4 (H7)4DP, 45 _||_ g
N 52 52 ¥
PGA430T-L(]-C4 | PG4soT-RO-C4
35 K [ 35
s o | o
BB o r + **q 45
2° 1 MEENE
g FEHIEHHE S =
8-M3 40P
4-35THRU O6C'BORE 4-3.5THRU O6C'BORE
(Bolt hole for M3) (Bolt hole for M3)
«
L0 [T e
0 ~I
:4] B o
L 5
-
[7¢ g|
4 (HT) 4DP a5 =
52 -
PG430M-L[-C _w | Pc4asom-RO-C o
60 69 69 60
35 16,16 Knob Knob 16 16
e 5 =3 R 3 5
i) o o
s[ ] me;E+ + 1l #] | + el
Y Ol by o | lo ol P 4+ 4 441 |7
B B B e g

4-3.5THRU ¢6C'BORE
(Bolt hole for M3)

8-M3 4DP

== By

6o 5o s o

o o ®

8-M3 4DP

S ([=D

52 ~
[] o - - K
= 3 55 53
4 | | O
° ! o o §
4(H7)4DP a5 || E
52 N

4-3.5THRU ¢6C’BORE
(Bolt hole for M3)

8-M3 4DP

<
ool | =
88 s

<[ 5

4(H7)4DP
15

D4(HTI4DP

| Pe4som-ROI-C4

'y
—r]
= - Ciam!
52 s

3
} Lol
4(H7)4DP

P4(HT)4DP 45

4-3.5THRU $6C'BORE
(Bolt hole for M3)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

QPARTER [EM

Dimensions g
o
=
PG530T-L]-C e | PassoT-RO-C e )
70 69 ) - 69 70
0 20 20_ 20,20, CND
30
35 13 } Knob Knob | 13 35 o
g2 | ~ ~ I 28
81 uER= H g ERSuEE= )
@) 5 — - - + s gl
g a o —HHHHH== T e — 8 iz 5 = L(‘%
/4-3.5THRU $6C'BORE 12 -M3 4DP. 4 -M2 4DP . - 4-3.5THRU $6C'BORE
(Bolt hole for M3) M 123 40P (Bolt hole for M3)
- <
Tk i El s
: 60 -
. 4 _
&l — A g
= X 4 (H7)4DP 45 Z|
PG530T-L[1-C4 _w | Pas3oT-ROI-C4 i,
70 825 § K 825
(2020
30
13 [ 35
8= | ‘ Knob Knob, | .
] B | N 4 : Goniometer
SR 5] CiE <7z
S 4 Flle o SNE
— =HEMEIES= == HE} S 3
—~ 7 = otary
\M 4-3.5THRU 6C'BORI
(Bolt hole for M3)’ 12-M3 4DP (Bolt hole for M3) m
ﬁ[ﬁ g b= T N E[ = ° 141 3 gc ﬁI
<~ o0 w |~ Controller
e =
- 5
% a5l B4 (H7) 4DP 4 (H7) 4DP, as5_|| %
60 60
PG530M-L[]-C e I PG530M-R[]-C 5w
70 69 ) 69 70
20, 20 2020
30|
e 135 | Knob Knob JIINIEE 35 .
Im— i } = /2 o\ ‘ Linear
s = 3 s H [T
< : & - r =+ Ball
GRESSERNGS ﬁ k =DaRE
5 - = 4
T——n— B S EEEw. 7
12.-M3 4DP \M 4-M240P | 4-3.5THRU (6C'BORE
(Bolt hole for M3)
12 -M3 40P,
< - CAVE-X
1 B Tl Linear ball
gl; = 5 o] TS
< 60 ~T ]
Cross
Roller
{
4 (H7)4DP |45
Slide

Guide

95 87
825

PG530M-L[]-C4 i %

0.
30 30
13

Knob Knoh

sy +
4
i
[20]
5l
67

4 (H7)4DP
o
—
)
o
(4]
@
2
1
]
1
(¢}
B
= 3
|
4 (H7)40P

- s ]
-M3 40P 4-M2 40P M 12 -M3 40P

170

45 D4 (H7)4DP 4 (H7)4DP | 45




Motorized Stage

X-axis Linear Ball Guide :PG650/PG750
- .
< Dimensions
o
~
o PG650T-L[1-C e | PaesoT-R-C S
5 126
~ 100 69 . 69 100
g 25_, 25 25 25
3 32
o I 5 | 2 oo 2 | it
K ST % g ¥ %
L2 8 gl . - ST E— ¢+ 4 '
ik PER ¢ + = - <+ 3/
P L g PN e ol 1 2l
5 —
I o
% = - sCHHHEES = L e
/4-4.5THRU (8C'BORE ¥ B /
(Bolt hole for M4) §-Me 40P 4005 40P 4-M3 4DP | 8 -M4 40P 4-4.5THRU $8C'BORE
(Bolt hole for M4)
- <
sl EE 1 El : i B
oI % % ~T]
. & > T
_ g s s \ ] B s &
£ £
m = .- - =
90 90
PG650T-LJ-C4 | PeesoT-RO-C4
126 95 95 126
100 825 ) - 82.5 100
25_ 25 25__25
. = } Knob Knob | =
Goniometer SIS . / = T
= —
RS & g ] = ¢ Gk
Hat . L e
- - : — s EHEHHEE= = == S E
4. " 4-M3 4DP 4-M3 4DP.
&:Md 40P 8004 40P (Bolt hole for M)
- -
el [ — - . = A
m B § ) b
= =
-6
3 . AL 5
£ > - g
] D5 (H7) 4DP 5 (H7) 4DP 55 o
90
PG650M-L[1-C | PeesSOM-RO-C . m
100 - 69 100
25_ 25 25_ 25
. rs o T T 3
Linear N T T g T 1 ~
< .
Ball 8 2P| t ;1 *+ + J8z
b 4 o e e I ot e te
B Su s e 7 =
'4-4.5THRU ¢8C'BORE 8 -M4 4DP 4 -M3 4DP 4 -M3 4DP 8 -M4 4DP 4-4.5THRU 8C'
(Bolt hole for M4) (Bolt hole for M4)
(07.\'/ =55 ¢ - .
Linear ball ———
el l"“ b < 5 e IR L
<~ % % .\T<r
Cross
Roller 5 o 8 ] _ -
=
- S ~
s A
g g
=l 55 5 (H7)4DP 5 (H7)4DP 55 &l
Slide ® %
i
Gl PG650M-L[J-C4 | Pcesom-RO-c4
126 95 95 126
100 82.5 . . 825 100
25_ 25 25 25
3 32 32 3
K R I | I\ LT
g =] — E
= (@ T Bl oETE @
A — = 323
NmN 2te e r P s - — ety oy
/4-4 5THRU GBC'BORE 8 -M4 4DP 4-M3 4DP K , 4-4.5THRU $8C'BORE
s P
~ ~|
(780 gls] i h < o BELG
° i
-4 2 e T
g A . ] ﬂ
m o |55 5 (H7)4DP 5 (H7)4DP _ll.55 =
90 90




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

QPARTE [{EM

Dimensions

PG750T-L]-C | Pa750T-RO-C I

136 75
110 69 . | 69 110

rfﬂ.
v 4,;4
‘ﬁr“
n
[ ]
o2l
T
o
il
e
4
4,:(4
L {40 ]
30
7l

30
86.8

abejg pazuoloN

<

8 -M4 40P 8 -M3 40P

4-4.5THRU $BC'BORE
{Bolt hole for Md)

8 -M3 40P 8 -M4 4DP

5 (H7)40P
5 (H7)40P

55 | 95 (H7)4DP @5 (H7)4DP 55

PG750T-L[]-C4 —— | Pe750T-RO-C4

95
110 825 825 110
30 30 30 30
40 | | ﬂ‘
3 o 30 ‘ ‘ ‘ ‘ 30 o 3
) = 1% Knob Knob — R 2 q
5 NEI t F / 4 = Goniometer
g ] _ o ] =
E Eal t i}» = = g = r# ot 1
= o+ . N 4 o
4 A RN T E—— oo/
g T otary
4-4.5THRU ©8C'BORE 8-M3 40P 8-M3 40P, 4-4.5THRU ©8C'BORE
(Bolt hole for M4) 8-M4 4DP. 8-M4 4DP (Bolt hole for M4)
- -

28

g 47 — . Eroam: | I
< 100 100 IS Controller

5 (H7) 40P
g

I @5 (H7) 40P @5 (H7) 40P 55
100 100
PG750M-L[]-C S — % I PG750M-R[]-C % S—
110 69 . 69 110
30 __30 30_, 30

30

40 -0
3 30, - 30 3
I 8 | Yaoh Knob

Il [ 1]
=1+ £ o « T = =s =
8| L S E ;\ s LAS! e
Fla i A = =S =l
. s B
=

/4-4.5THRU 8C'BORE 8 -M4 4DP 8 -M3 40P
8-M3 4DP 4-4.5THRU $8C'BORE
(Bolt hole for M4) {Bolt naleq:ar M)

8 -M4 4DP CAVE-X

Linear ball

Linear
Ball

Cross
— - Roller
Aes o5 tmaoe 95 7HOP w Slide

Guide

PG750M-L[J-C4 o | PG750M-R-C4

136 95 136
110 825 ) ‘ 825 110
30 __30 30__30
i 10
-] 30 3
8 T 3
= [+ Knob P i
4 —
3‘ o . )
e B o il it
4 2|
£, - ] . ERE
= =
8-M4 40P 8-M3 40P £
8-M3 40P 8-M44DP  4-4.5THRU GBC'BORE
(Bolt hole for Md) (170
<
]

5 (H7)40P
&
A
5(H7a0P_||

5 (H7)40P 95 (H7)40P
100 100




APNRT
M X-axis Linear Ball Guide :PG430/PG530/PG650/PG 750 LPABTER

abelg pazuolo

Goniometer

EEEIIEIHI

Linear
Ball

CAVE-X

Linear ball

80

| Motorized Stage

Dimensions

Side view

=}

<{

LS

C Standard motor

005C-90215P-1
PK523HPB-C15

D High-torque

PK525HPB-C1

PK525HPB

*Motor type: Upper 3 sensors/Lower 4 sensors

Top view Connector : T/M Common

— |

E High resolution

PK523HPMB-C1
PK523HPMB

T 2 Phase stepping motor
SJA28N32-0674B-01

) A(mm) B(mm) C(mm) D(mm) LS(mm)
e ] e 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
T 16.8 16.8
PG430 M 18.0 2.0 152 172
: : o | s
E 128 T 4 4 4 4 16.8 16.8 0 0
PG650 T m 168 168 201 221
T 16.8 16.8
PG750 m 168 168 21 231
) A(mm) B(mm) C(mm) D(mm) LS(mm)
LG — L 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
T 16.8 16.8
PG430 M 180 2.0 1715 191.5
PG530 '\TA :gg }sg 181.5 201.5
D 28 T 4 4 4 4 16.8 7 6.8 0 0
PG650 m 168 168 220.5 240.5
T 16.8 16.8
PG750 M 16.8 16.8 230.5 250.5
MA MB With electromagnetic brake
WOIANORE PKES45MC-A1
*Included driver: MA selected: 100V, MB selected: 200V
) A(mm) B(mm) C(mm) D(mm) LS(mm)
L1 —c LS 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG430 VA 1 1 201.5 208.5
PG530 2115 2185
PG650 NiB T 1" 1" " " 16.8 16.8 0 0 2505 | 2575
PG750 260.5 267.5
PA aSTEP (AR Series) ZA aSTEP (AZ Series)
VOEIEE ARM24SAK VIITENNNE AZM24AK
. A(mm) B(mm) C(mm) D(mm) LS(mm)
e L LIS 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG430 172.5
PG530 182.5
PG650 PA 28 T 4 - 4 — 16.8 - 0 - 215 -
PG750 231.5
PG430 182
PG530 192
PG650 ZA []28 T 4 - 4 — 16.8 — 0 — 231 -
PG750 241
UA Servo motor (J4[Mitsubishi Electric corporation])
GIENEEE HG-KR053
. A(mm) B(mm) C(mm) D(mm) LS(mm)
WL LT LEERERE 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor | 3 Sensor | 4 Sensor
PG430 204.4
PG530 214.4
PG650 UA 140 T 10 - 10 - 16.8 - 0 - 2534 -
PG750 263.4




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

OPARTER [

When our controller is used requirement

Motor option C| Standard motor
D High-torque Cable selection Controller
C Standard motor Stage main body E High resolution Code: A,C,FH DS102/112
’
€005C-90215P-1 (3 sensor)
PK523HPB-C15 (4 sensor) | ] .
D High-torque
(Available for motor and sensor)  © P.1-195~ "
PK525HPB-C1 (3 sensor) All customers are required to prepare
PK525HPB (4 sensor) g ﬁ?a'r:dtard motor DC24V power, controller and PLC by themselves.
. . igh-torque
E | High resolution E High resolution Cable selection Jmmmmm=a=smzmmmmmmsaanns
Stage main body T 2 Phase stepping motor Code: B,D,G.J Driver selection H 4 ower . :
PK523HPMB-C1 (3 sensor) P 1 : [
PK523HPMB (4 sensor) ,.\ POIITITIIL, emeeemen B
. (] 10
T | 2Phase stepping motor I I Controller : : PLC | |
[TSRERER “0nly 3 sensor gy | Jyp—— ;
SJA28N32_0674B_01 Tl mm
(Available for motor and sensor) @ P.1-195~
Code (DMotor model (2Motor + Sensor cable selection Code (DMotor model (2Motor - Sensor cable selection
. 3 Sensor €005C-90215P-1 A-B-C-D:D214-2-[JEK) 5 3 Sensor PK523HPMB-C1 A-B-C-D:D214-2-[JEK)
4 Sensor’ PK523HPB-C15 FeG-H-J:D214-2-LIRK) 4 Sensor’ PK523HPMB F+G-H-J:D214-2-[IRK)
3 Sensor PK525HPB-C1 A-B- D : D214-2-[JE(K) 3 Sensor SJA28N32-0674B-01 B+ D : DS1-2C-2-[JEK
D T
4 Sensor’ PK525HPB Fe+G-H-J:D214-2-IR(K) 4 Sensor — G+ J : DS1-2C-2-[JIRK
* For 4 sensors, only the Code:Blank (no-cable) option is available.
Motor option
i St bl
MA With electromagnetic brake DC24V power, controller and PLC by themselves)
MB soncor ......................:
PKE545MC-A1 mmmmmmm a
*Driver H
MA: 100V ) '
MB:200V (® WA With electromagnetic brake __(2Cable for @Motor driver i
MB With ic brake brake (selection) 1
| ]
4 H
|| ... :
V4 L ——
Code (DMotor model (2Motor cable selection (3Sensor cable selection Driver selection
MA 3A : CCO30VPFB 3A - 3 : PG-H-ASSY5-3000 [MA]J3A - 5A : RKSD503M-A
. PKE545MC-A1 5A : CCO50VPFB 5A - 5 : PG-H-ASSY5-5000 [MB]3A - 5A : RKSD503M-C
8 Blank « 3 + 5 : Not included Blank : PG-H-ASSY5-2000 Blank « 3 + 5 : Not included
Motor option
Stage main body (3Sensor cable(Selection) All customers are required to prepare
PA aSTEP (AR Series) DC24V power, controller and PL themselves |
RLCELEEEELTEEELEEEETERS
Sensor . H
ARM24SAK H H
) ST ETTEETS -
ZA QSTEP (AZ Series) * * Power supply '
ne | ]
(®PAlaSTEP(AR) @Motor cable @Motor drive Pty et
AZM24AK ZA aSTEP(AZ) (Selection) (Selection) .. - HE
H Controller , » PLC i !
rennnnnnnd nnnnnnnl
{ O - : :
— — ,' CEL L L L -‘ :
Code (DMotor model (2Motor cable selection (3Sensor cable selection Driver selection
3A : CCO30VA2R2
3A « 5A : ARD-K
PA ARM24SAK 5A : CC050VA2R2 . .
Blank + 3 + 5 * Not included 3A - 3 : PG-H-ASSY5-3000 Blank « 3 + 5 : Notincluded
. 5A + 5 : PG-H-ASSY5-5000
3A : CC030VZ2R2 .
Blank : PG-H-ASSY5-2000 “5A: |
b7y AZM24AK 5A : CCOS0VZ2R2 o A A g
Blank - 3 - 5 : Not included )
Motor option
UA Servo motor DC24V power, controller and PLC by themselves|
I G .......................:
HG-KR053 1 mmmmm—. n
] H u
» = Power supply . M
' i
(2Motor cable (®Servo amplifier - Samanamad e o
(®|UA Servo motor (Selection) (Selection) ' bLe 1 '
L [
i UL SR -
{ SN : :
— — — CEET LT T T L L
V< 4 SrrooCrCCCCCCCooooooocy
(3Encoder cable(Selection)
Code (DMotor model (@Motor cable selection (3Encoder cable 3m (®Sensor cable selection (5 Servo amplifier selection
3A : SVPM-J3HF1-B-3-02S 3A : SVEM-J3HF1-B-3 3A + 3 : PG-H-ASSY5-3000 3A - 5A ° MR-J4-10A
UA HG-KR053 5A : SVPM-J3HF1-B-5-02S 5A : SVEM-J3HF1-B-5 5A + 3 : PG-H-ASSY5-5000 Blank 3 .5 * Not included
Blank + 3 + 5 : Not included Blank « 3 + 5 : Not included Blank : PG-H-ASSY5-2000 )

abejg pazuoloN

Controller

Linear
Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide

|

70



abelg pazuolo

Goniometer

Linear
Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide

80

S
G)

| Motorized Stage

X-axis Linear Ball Guide :PMG413/PMG513/PMG615/PMG715

PMG413T-LA-C

*The picture is an image.

PMG413T-LA-C4

PMG413M-LA-C

LA-C[ ][]

PMG413M-

PMG41

3M-LA-C4

*A dedicated hex wrench is included to
secure the lower axis of the XY.

E Connector specifications

*For Code T,2-phase stepping motor, our controller (DS102/112)
cannot be used.

2 3 4 505 6 707 CCables, Positioning pin P. 1-207 ~
| o HBOO0 OO CkElectrical specification P.1- PG-041~
n Stage table size/Travel distance E Motor option E Motor option

Code size Travel distance Code Specification Code Specification

413 | [J40mm 13 C Standard(5 Phase stepping motor) MA With ic brake([J42_100V)

513 | CI50mm mm D | High-torque MB_| win ic brake(142_200V)

615 | [160mm 15mm E High resolution PA aSTEP (AR Ser.les)

715 | [J70mm T | 2 Phase stepping motor ZA | GaSTEP (AZ Series)

UA Servo motor(J4)

not consolidated into a common connector.

K identification

*One end loose position to only stage opposite side.

Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.
For 4 sensors, only the Code:Blank(no-cable) option is available.

Sensor cover location specification

Code Specification Application Motor [ A sensor options
M Panel mount C|D T L Application Motor
. [Pt c|o T Code Specification CID|E|T [MA[MB]PA]ZA] UA
Connector None MA | MB ZA | UA Blank | 3 Sensor(CWLS,0RG1,CCWLS) ® 0600 000 0o o
4 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 2K 3K J [ 2K )
O Fanel mount Cable option Cable option (Motor: MA, MB, PA, ZA, EA, UG, UA)
e For 2-phase motor
Code Specification Cable type Capble ype Code Specification
Pig tail Connector None BI:nk (le:zle I notncuded (Standerd 07 4-_2-2E : Blank | Sensor cable 2m One end loose wire
B_| 2m One end foose 021422 | DSIE022K 3_{ Sensor cable 3m One end loose wire
5 | Sensor cable 5m One end loose wire
C_|4m D214-2-4 = 3A_ | Driver Amplifier (3m Cable Sep)
T - D_| 4m One end loose D214-2-4EK | DS1-26-2-4EK A [ orver Am"”ﬁer o Cable S
E | Only connector (Cable is not included) = = p
F | Robot cable 2m D214-2-2R =
G| Robot cable 2m one end loose D214-2-2RK DS1-2C-2-2RK
w tor- The motor cable and bl H | Robot cable 4m D214-2-4R =
0 common connector: e motor cable and Sensor Cabie are. T3 oy el 4 aneend loose D214-2-4RK | DS1-26-2-4RK

For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)

P>PMG413T-LA-CA

PMG413T-LA-CA

L
M (3 Motor (@ Cable/Driver combination
Sensor cover location specification The screwdriver (amplifier) cable = Blank 3 5 3A 5A
Motor MA-MB/PA-ZA/UA MA-MBPA-ZA UA MA-MBPA-ZA UA
Sensor 2m 3m 5m 3m 5m
R
Motor 3m 5m
Cable =
Electromagnetic brake None sm | — [ — sm | — [ —
Encoder — | =] 3m — | =] 5m
Driver (Amplifier) None Available
n Sensor logic
A AlIN.C.
B AlIN.O.
C N.C.ORG1 and ORG2 are N.O.
*ORG2 (slit origin sensor) is only supported when 4-sensor
specification is selected.
Selection example
X ” Size: (140 Connector specifica- Sensor cover location Sensor logic Motor option Sensor options
Desired specifica- | frayel length: 13mm tion - pigtail + L position + A:AIIN.C. + C: Standard + | Blank:3Sensor | —
PMG413 PMG413T PMG413T-L PMG413T-LA PMG413T-LA-C PMG413T-LA-C
Cable option
A:2m



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PMG413[]-LA-C PMG513[]-LA-C PMG615[]-LA-C PMG715[]-LA-C
(Opposite hand) PMG413[]-RA-C PMG513[]-RA-C PMG615[]-RA-C PMG715[]-RA-C <
S Travel distance 13mm 15mm 9._
S [Stage table size 40x40mm [ 50x50mm 60x60mm [ 70x70mm (©]
= % Feed screw ( Ball screw) 6 Lead 1 E
g ¢, |Guide Linear Ball Guide o®
}E Main material— Surface finishing Stainless—Electroless nickel plating Q
§I Weight Pig tail 1.00kg 1.22kg 1.46kg 1.72kg 9
i Panel mount 0.98kg 1.20kg 1.44kg 1.70kg Q)
-§ . Resolution/Pulse 2um(Full)/1pm(Half) (o]
S 8|MAX speed 10mm/sec o®
8 5 |Load capacity 9.51kgf[93.2N] [ 9.40kgf[92.1N] [ 9.28kgf[90.9N] [ 9.15kgf[89.7N]
S = |Squareness 5um/Full stroke
@ Limit sensor Available
§ Origin sensor (ORG1) Available _
= |Slit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-8 4 of M4-8 -
2{Uni-directional positioning accuracy 6um
?‘i; % [Repeatability positioning accuracy +0.5um -
= g Lost motion 1pm
§ »(Backlash 0.5um
8 % Straightness 1um W
& |Pitching/Yawing 15"/10"
1 The SPEC varies depending on the motor. -
[l Resolution - MAX speed - Weight
Motor code (o] D E T
Type Standard High-torque High resolution 2 Phase stepping motor m
Wotor model* 1 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB -
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1um 1pm/0.5pm 5um/2.5um
Resolution i
M |/czr((J) fSJLeEesolution) 0.1um 0.05ym -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMG413 Pig tail 1.00kg 1.08kg 1.18kg 1.26kg 1.00kg 1.08kg 1.00kg -
Panel mount 0.98kg 1.06kg 1.16kg 1.24kg 0.98kg 1.06kg 0.98kg -
Pig tail 1.22kg 1.30kg 1.40kg 1.48kg 1.22kg 1.30kg 1.22kg -
Weight PMGST3 Panel mount 1.20kg 1.28kg 1.38kg 1.46kg 1.20kg 1.28kg 1.20kg - e
PMGE15 Pig tail 1.46kg 1.54kg 1.64kg 1.72kg 1.46kg 1.54kg 1.46kg - Ball
Panel mount 1.44kg 1.52kg 1.62kg 1.70kg 1.44kg 1.52kg 1.44kg —
PMGT15 Pig tail 1.72kg 1.80kg 1.90kg 1.98kg 1.72kg 1.80kg 1.72kg —
Panel mount 1.70kg 1.78kg 1.88kg 1.96kg 1.70kg 1.78kg 1.70kg —
Motor code MA - MB PA ZA UA Er:::ﬁ;)u(
Type With electromagnetic brake[]42mm aSTEP (AR) aSTEP (AZ) AC servo motor(J4)
N 3 Sensor PKESASMC-AT ARM24SAK AZM24AK HG-KR053
4 Sensor — — —
Step angle 0.72° - - -
Full/Half 2um/1pm
Resolution Micro step . 0.4um 1um(Set to 1000P/R) 1pm(Set to 1000P/R) 22 Bit encoder(4194304P/R)*?
(1/20 On resolution)
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMG413 1.82kg 2.00kg 1.08kg - 1.08kg - 1.68kg -
Weight PMG513  |Connector 2.04kg 2.22kg 1.30kg - 1.30kg - 1.90kg -
PMG615  None 2.28kg 2.46kg 1.54kg — 1.54kg - 2.14kg -
PMG715 2.54kg 2.72kg 1.80kg — 1.80kg — 2.40kg -

*1 Model is our own management model.
*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.




Motorized Stage

XY-axis Linear Ball Guide:PMG413/PMG513

< Dimensions
2
3 PMG413T-L[J-C | PMG413T-RO-C
1403 1403
= Koo 835 168 6840 835 ‘oob
N o 775 1616 16 16 775
i 3 - - 2|
Q ] 1 H
°
(7)) IE) b N .
5" s HIPHHES 2 i o o i —HEHH =
g g
Q@ 8-M3 40P bl Elel Tlal — \s-uza0p
- bl K@ & 1 .
(1)) ho
) iy
Knob, Knob
_ . .
- Table surface < < Table surface
RE] 32|\ 4-35THRU 06C'BORE
m (Bolt hole for M3) (Bolt hole for M3)
PMG413T-L[]-C4 | PMG413T-RO-C4
160.3
91 16_ 16 91
Knob 1 *—’1 Knob
o AT -
B gl A < 4 g
Goniometer s —E b o £
=T Bl TET e o i 1 e o
L s 1 s =
e o
R 2 El {% e

i

m Knob/ | $20 920 |\ knob

Table surface Table surface

48
4
4

s ‘
[ ST |: d—od :

= U L. ; .
4-3.5THRU $6C'BORE / 32 :’[ = = ::Y 32 \4-3.5THRU ©6C'BORE

(Bolt hole for M3) (Boit hole for M3)

PMG413M-L(I-C | PMG413M-RO-C »
Koob s TR TY TERTRD i foob
- z a6, 168 168/ 16 16 l [,

; ® ST+ PSS S - R e
Linear é| | R Al i < ;t L | |é
Ball 'Lgt i B "t b o 4l

) I & -4 Lle - 't
E{B@{] N | b ;_‘Eiﬂﬁg—ﬁ
o 8
o - o)
smsaoe /[ 2l IS g 8 -M3 4DP
o
(07.\V/ =55 ¢ ] =
Linear ball oot E " Koob
P12 t 12
Table surface - Table surface

=W:IE

4-3.5THRU 6C'BORE

4-3.5THRU ¢6C'BORE 32 gLf

(Bolt hole for M3) (Bolt hole for M3)
PMG413M-L[]-C4
165.5 165.5
103.5 40 22 103.5
Knob 91 16 16 |16.8 16.8 16 16 91 Knob
-+ o N -+
= METE T S R asTTuE A
m E[—m:gf © g . A 3 ’WB
B 0 ]
o o
m 8-M3 40P sla|” REE 8-M3 40P
® =3 ®
] ;
= R
Knob, M F:J 07 bEOJ Knob
oo | ! i
m Table surface - < Table surface
ﬂ 4-3.5THRU 6C'BORE 32 ale

(Bolt hole for M3) (Bolt hole for M3)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

QPARTE M

Dimensions =
2
PMG513T-L[J-C | PmG513T-RO-C 8
1503 1503 -
835 50 16 68 50 835 -
775 2020 2020 775 N
130 30 m
Knop E E Knob o
g O f ¥ = ﬁt tn Aap: g /5: m
) . g =l gl T o . Q)
s HHHHH= SCiarEAm | o o g T cHEHH= «Q
4 2 g (1)
12-M3 4DP 94 0] 12 -M3 4DP
4-M2 4DP, g 8~ ¥ 4-M2 40P
pu i ) - = T
Knob, Knob

Table surface Table surface

EE =
C | ) § e8P
4-3.5THRU ©6C'BORE / 40 3]’ - 3‘ 40 \4-3.5THRU ¢ 6C'BORE
(Bolt hole for M3) (Bolt hole for M3)
PMG513T-L[]-C4 | PMG513T-RC-C4
170.3 1703
103.5 50 168 168, 50 1035

N w0
130 30|
13 13
| wEd == ‘MEE" 5T 54” = 3 ﬁﬁ“" Goniometer

920
+ 5
20 | 20

+
® 4 g o
e MRS 7 TET R A TE e RS otary
12:M3 40P 9 E g ° 12:M3 40P
4:M2 40P = EN

1035

4-M2 40P
- m
Knob /| 920 Lv_?ﬂ Knob
% % Controller

Table surtace Table surface

i

43 5THRU QEC'BORE @ :’»T < =l 3] “ 4-3.5THRU QBCBORE

(Bot hole for M3) (Bolt hole for M3)
PMG513M-LJ-C | PmG513M-RO-C N
835 50 168 T8 50 835
775 2020, 20,20 775
3 30
13 13 Knob

o/g g N Linear
IRaks = : B o T Te Ball
i) 1] | B is R ‘ a| o £ 11 +H B a
A ¢ t 8 : S A
M g & e T
“TIh A o E Ny =
g 8
12 -M3 40P o = ; ] 3E = 12 -M3 4DP
4-M240p/ E‘J = b lﬁ? 1\ 4-m240p (07.\'/ =55 ¢
e o] P Linear ball
}
K;:bz Ei 7 Knob
it il 912
Table surface Table surface Cross
Roller
4-3.5THRU $6C'BORE % 2l< E 40 _| \4-35THRU Q6C'BORE
(Bolt hole for M3) (Bolt hole for M3) .
Slide
PMG513M-L[]-C4 I PMG513M-R[]-C4 Guide
1705 1705
103.5 50 17 a7 50 103.5
91 20 20 f16.8 1168 20_ 20 91
: 30 30 :
13 13
E= E=
g1 e 4t B G t g\j al &
. + 4 a 8 +y .
== S T PN R
0 0
12-M3 40P 9 - b g ol ° 12-M3 40P
4-M2 40P 4 S g il 4-M2 40P
) .
A S o
Knob/ 920 | =7 20 |\ Knob
aon/ 020 J i 0]
Table surface < m
o
3 i H == N
4-3.5THRU GBC'BORE / | 40 g«
(Bolt hole for M3) -




abelg pazuolo

Goniometer

Linear

Ball

CAVE-X

Linear ball

80

Motorized Stage

XY-axis Linear Ball Guide:PMG615/PMG715

Dimensions

PMG615T-L[]-C

S 0 1

| PmG615T-ROI-C I

25_| 25

£ B 1| I

8 -M4 4DP
4-M3 4DP

Table surface

1435

775

4-4.5THRU ¢8C'BORE

(Bolt hole for M4)

60
25_ 25

3

& %
Ty

143.5
-

0|2 8 -M4 4DP

J
K|
= %H 4-M3 40P

75
e

~ -l 50 \4-4.5THRU 8C'BORE

(Boft hole for M4)

PMG615T-L[]-C4

8-M4 40P

4-M3 4DP.

1635

1035

4-4.5THRU BC'BORE,

(Bolt hole for M4)

1635

1

»—/_‘L
e

8-M4 40P

1035

T 4-M3 4DP

&
L2\

Table surface

50 4-4.5THRU 08C'BORE
(Bolt hole for M2)

PMG615M-L[]-C

25

5

1435

4-4.5THRU ¢ 8C'BORE/ 50

16.8 60 83.5
25_ 25 775
g B /KNM
T T -~
K P -
8 T
g + o
o e ° ==
€ \ =
o) 8 -M4 4DP
gr
23 [E 4-M3 40P
=

RE 50 4-4.5THRU @ 8C'BORE

——
< 7

(Bolt hole for M4)

H == Iy
4-4.5THRU @ 8C'BORE/ 50

(Bolt hole for M4) (Bolt hole for M4)
PMG615M-L[-C4 | PMG615M-RO-C4
035 s 60 1%
91 %__2 91
2
B 8| ]
K% - o *\* % \+¢ - Knob
o
g g W &
o ragee
= ; MEp=A e =
- m
| |
8 -M4 40P = = e 9 8-M4 4DP
4-M3 40P 5|3 Bl L 4-M3 40P
p
o
T e \en
i
Table surface Table surface

= =l 50 \ 4-4.5THRU ¢ 8C'BORE

(Bolt hole for M4)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Dimensions

COPART M

PMG715T-L[]-C e I PMG715T-R[]-C I B
775 30 30 30 30 715
140 40
Knob ‘ ‘ 0 = 2
B 8
2\ I i
© B4 I el
te R SR g ?FE
B . t s o |
SEHHHEES e/ el o
T -RRE EREE
8-M4 40P | |l ° ol 8-M4 40P
8-M3 40P % Rg g~ 8-M3 40P
- =
Knob, Knob
12 12
Table surface - - Table surface
N Q, I — E LS
< o 60 \4-4.5THRU ¢8C'BORE
(Boft hole for M4)
PMG715T-L[]-C4 - w | pmG715TRO-C4 e
91 30 30 30 30 91
40 )] E—
[ I N | [
8 8
Koo T T IR aob
N R s 8 v 4
HE + RI{EELR s e + 4 El
gt lﬁ 8 1 i
S HIHHHHS = e = . - = HHHHH ==
twsor - ] 3 — 7 @
8-M3 40P ; 5 g 3|5 8-M3 40P
‘ ‘
== =y
Knob/" | 20 20| \Knob

Table surface

, S BE s
oo = = o o)
PMG715M-LJ-C s | PmG715M-RO-C s
835 70168 fog__ 70 835
715 30__30 30_,_30 715
m‘ 40 _
Knob [ [ 1l 2 = e Knob
8 8 1
~ * T ‘ * ‘ T ? ‘ Ea ‘ K3 ~
ﬁ: b 013 s °X 3 4 g e
v = s o #j
° f v‘f‘;, l% 8 l %# hx* ®
R 1 a
== amE ERRE 2 7= e ¢ B
y 3l [ (8 3 < b,
8-M4 40P e 9 o) ol P9 8-M4 40P
8-M3 4P "’:\J Ne Bl !” 8-M3 40P
‘o ng
—— =) o 1 Y
1]
Knob/ . Knob
o2 | \lf 7 o
it i -
Table surface < Table surface
&
& Id
casTRY @BCBORE /| 60 =l o 60 4-4.5THRU $BC'BORE
(Bolt hole for M4) (Bolt hole for M4)
PMG715M-L[]-C4 | PMG715M-ROI-C4
103.5 70 16 [168, 70 103.5
o 3, 30 3030 o
1 | P
s &
T T &1 T
Y ?‘t\}f \rp? 0 i Yd Y{\f? | foob
: i i S :
g v 9| e S o 4 1]
7N 4 4| # %
== HHHE 9 Amp-Am = = mmrn ° FHEES=
ERRE EARE
g 8
8 -4 40P 9 9 8 -4 4DP
8-M3 40P EE ol 8-M3 40P
& g g *
. n
s = AN L &
Knob, 20 iy 20| \ Knob
/il g el

4-4.5THRU ¢ 8C'BORE, 60
(Bolt hole for M4)

= 60 \ 4-4.5THRU @ 8C'BORE

(Bolt hole for M4)

abejg pazuoloN

Controller

Linear

Ball

CAVE-X

Linear ball

L]
S



abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

| Motorized Stage

X-axis Linear Ball Guide : PMG430/PMG530/PMG650/PMG750

PMG430T-LA-C

*The picture is an image.

PMG430T-LA-C4

PMG430M-LA-C

PMG 430

M-LA -

o
]

]

PMG430M-LA-C4

*A dedicated hex wrench is included
to secure the lower axis of the XY.

CCables, Positioning pin P. 1-207 ~
CeElectrical specification P.1- PG-041~

Connector specifications

*For Code T,2-phase stepping motor, our controller (DS102/112)

3 6] 6]
Stage table size/Travel distance Motor option Motor option
Code size Travel distance Code Specification Code Specification
430 | 40x60mm C | Standard(5 Phase stepping motor) MA With electromagnetic brake([142_100V)
530 | 50x70mm Somm D | High-torque MB__| Wi cectomagnetc brake(142_2001)
650 | 60x100mm 50mm E High resolution PA aSTEP (AR Ser'ies)
750 | 70x110mm T | 2 Phase stepping motor ZA | OoSTEP (AZ Series)
UA Servo motor(J4)

identification

*One end loose position to only stage opposite side.

cannot be used.
Code Specification Application Motor ﬂ n Sensor options
M_] Panel mount LSl Code Specification A
7 | FPgtai CIDIELT D C[D[E]T [WA[MB]PA[ZA|UA
Connector None MA[MB|PA|ZAJUA  “Rlank | 3 Sensor(CWLS,0RGT,COWLS) © o/ 0o/o 0o 0 0 0 o

4 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 2K 2K J [ 2K )

M | Panel mount Cable option Cable option (Motor: MA, MB, PA, ZA, EA, UG, UA)

P For 2-phase motor
Code Specification Cable type Ca'i)le ype Code Specification
Pig tail Connector None mf\"k Gable s ot incuded (Standard) - — Blank | Sensor cable 2m One end loose wire
2m D214-2-2E = -
[ﬁ] B_| 2m One end loose D214-2-2EK | DST-202-26K : 2::2;’: gzg:z gg g:: g:g :ggzz a::

T ) C_|4m D224 = 3A | Driver Amplifier (3m Cable Set)
D | 4m One end loose D214-2-4EK DS1-2C-2-4EK BA | Driver Ampiifier (5m Cable Se)
E | Only connector (Cable is not included) - - P
F | Robot cable 2m D214-2-2R =
G [ Robot cable 2m one end loose|D214-2-2RK |  DS1-2C-2-2RK
H | Robot cable 4m D214-2-4R =

*No common connector: The motor cable and sensor cable are
not consolidated into a common connector. J | Robot cable 4m one end loose|D214-2-4RK |  DS1-2C-2-4RK

Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.

Sensor cover location specification

For 4 sensors, only the Code:Blank(no-cable) option is available.
For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)

L
WOLIEEE (3) Motor (@) Cable/Driver combination
The screwdriver (amplifier) cable ~ Blank 3 5 3A 5A
Motor MA - MB/PA « ZA/UA MA<MB PA-ZA UA  MA-MB PA-ZA
R Sensor 2m 3m 5m 3m 5m
Cable Motor 3m 5m
Electromagnetic brake None sm | — [ — sm | — [ —
Encoder — | =] 3m — | =] 5m
. Driver (Amplifier) None Available
Sensor logic
A AlIN.C.
B AlIN.O.
C N.C.ORG1 and ORG2 are N.O.
*0RG2 (slit origin sensor) is only supported when 4-sensor
specification is selected.
Selection example
. ” size: 40x60mm Connector specifica- Sensor cover location Sensor logic Motor option Sensor options
Desired specifica- | - Travel length: 30mm | - tion -« pigtail + L position + A:AIINC. + C: Standard + | Blank:3Sensor | —
PMG430 PMG430T PMG430T-L. PMG430T-LA PMG430T-LA-C PMG430T-LA-C
Cable option
+ A:2m >PMG430T-LA-CA
PMG430T-LA-CA



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PMG430[]-LA-C PMGS530[]-LA-C PMG650[ ]-LA-C PMG750(]-LA-C
(Opposite hand) PMG430[]-RA-C PMG530[]-RA-C PMG650[]-RA-C PMG750[]-RA-C 2
g Travel distance 30mm 50mm 9._
S [Stage table size 40x60mm [ 50x70mm 60x100mm [ 70x110mm o
. § Feed screw ( Ball screw) 6 Lead 1 E
S £|Guide Linear Ball Guide ()
?;g Main material— Surface finishing Stainless—Electroless nickel plating o
E Weight Pig tail 1.40kg 1.72kg 2.49kg 2.92kg (7))
? 9 Panel mount 1.38kg 1.70kg 2.47kg 2.90kg 5"
-(.‘: - Resolution/Pulse 2um(Full)/1pum(Half) (o]
S 38| MAX speed 10mm/sec D
8 8 |Load capacity [ Panel mount 9.25kgf[90.7N] [ 9.06kgf[88.8N] [ 8.61kgf[84.4N] [ 8.35kgf[81.8N]
S = |Squareness 10pm/Full stroke
o |Limit sensor Available
% Origin sensor (ORG1) Available
= |Slit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-8 | 4 of M4-8 -
_%|Uni—directional positioning accuracy 12um
§ s Repeatability positioning accuracy +0.5um -
& %]Lost motion 1ym
8 w|Backlash 0.5um
S 2[Straightness 2um W
& |[Pitching/Yawing 20"/15"
b The SPEC varies depending on the motor. -
Note :PMG430,530,650,750 includes spacer for XY mouting.

Goniometer
[l Resolution + MAX speed - Weight Rotary

Motor code C D E T
Type Standard High-torque High resolution 2 Phase stepping motor m
Wotor model 1 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB —
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1um 1pm/0.5um 5um/2.5ym
Resolution i
M |/c2rg (s)tnefesolution) 0.1um 0.05um -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMG430 Pig tail 1.40kg 1.48kg 1.58kg 1.66kg 1.40kg 1.48kg 1.40kg —
Panel mount 1.38kg 1.46kg 1.56kg 1.64kg 1.38kg 1.46kg 1.38kg —
Pig tail 1.72kg 1.80kg 1.90kg 1.98kg 1.72kg 1.80kg 1.72kg —
X PMG530 Linear
Weight Panel mount 1.70kg 1.78kg 1.88kg 1.96kg 1.70kg 1.78kg 1.70kg —
PMGE50 Pig tail 2.49kg 2.57kg 2.67kg 2.75kg 2.49kg 2.57kg 2.49kg —
Panel mount 2.47kg 2.55kg 2.65kg 2.73kg 2.47kg 2.55kg 2.47kg —
PMG750 Pig tail 2.92kg 3.00kg 3.10kg 3.18kg 2.92kg 3.00kg 2.92kg -
Panel mount 2.90kg 2.98kg 3.08kg 3.16kg 2.90kg 2.98kg 2.90kg - CAVE-X
Motor code VA - MB PA ZA A SIeaost
Type With electromagnetic brake[J42mm aSTEP (AR) aSTEP (AZ) AC servo motor(J4)
Wotor model* 1 3 Sensor PKESASMC-AT ARM24SAK AZM24AK HG-KR053
4 Sensor — - —
Step angle 0.72° — — —
Full/Half 2um/1pym
Resolution Micro step . 04um 1pm(Set to 1000P/R) 1pm(Set to 1000P/R) 22 Bit encoder(4194304P/R)*2
(1/20 On resolution) :
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMG430 2.22kg 2.40kg 1.48kg - 1.48kg - 2.08kg -
Weight PMG530  |Connector 2.54kg 2.72kg 1.80kg — 1.80kg — 2.40kg —
PMGe50  [None 3.31kg 3.49g 2.57kg - 2.57kg - 3.17kg -
PMG750 3.74kg 3.92kg 3.00kg - 3.00kg - 3.60kg -

*1 Model is our own management model.
*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.

7

(=]




abelg pazuolo

Goniometer

Linear
Ball

CAVE-X

Linear ball

80

Motorized Stage

XY-axis Linear Ball Guide : PMG430/PMG530

152

PMG430T-L(J-C | PMG430T-RO-C

<IN
M
&

7

— 4 4 b

¥+
=+ -+

152

152

16.8

69

1l

e

77 75
40 _168 69

1616 Knob

T T o

[+ + 4 ® ©

e

R (T |
H R

.8 -M3 4DP

\4-3.5THRU $6C'BORE

(Bolt hole for M3)

PMG430T-L[]-C4

172

%

168 825

16 16

LTTET
[ek]

168
172

825

:

Table surface

ITE

4-3.5THRU $6C'BORE

(Bolt hole for M3)

PMG430M-L[]-C

152

75

69

‘ Knob

Rt

[THTT

e T

1) =

16.8

\__8 -M3 40P

69

4-3.5THRU $6C'BORE

(Bolt hole for M3)

PMG430M-L[]-C4

172

95

825

;

7

5y
E4N]

S

TRITET
X

172

825
95

55

4 7|4

4-3.5THRU 6C'BORE

(Bolt hole for M3)

s e 1| i Ty
B R N 1| 1 O

\_8:M3 40P



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

@

PART

CAD
DATA

CAD
Dimensions
PMG530T-L[-C e
50 168 69
20,20
Knob
I o
=
d
- T = e -
“HEHHES o —— ==
12-M3 40P 3 12-M3 40P
o
4-M2 40P Bl 4-M2 4DP

(Bolt hole for M3)

4-3.5THRU C'BORE / 60 EE

60 4-3.

‘BORE
(Bolt hole for M3)

5THRU Q6C'

182

PMG530T-L[1-C4

825

20_| 20
5
7

:

168

825
5

182

920 | \kaob

Table surface

o |
sommascnoe/| @ | 3l

(Bolthole for M3)

182

%

825

Knob/ | 620

:

Table surface

12:-M3 40P

4-M2 40P

BE| PP | V—

(Bolt hol for M3)

4-3.5THRU $6C'BORE
(Bolt hole for M3)

PMG530M-L[]-C — L ——
59 T68__50 10 10 50168 59
% 20 % 20
30 3
3 13
Knop og 2 g ‘ Knob
; n
3| b 1+ 1 4 + 4]
R 4 £t
e + 4 - » # 4 =3 —
= = = M=
4 TIEI] 2 [TIEIT
12.-M3 40P = 12-M3 4DP
3 L - e L
4-M240p . 2l s 4-M240P
% Knob Knob, %
‘m/ o12 012 m
Table surface - - Table surface
< 2
5| o
o H L T
PMG530M-L[]-C4
9% 87 [ 87 9
825 68_ 50 10 0[5 _8 825
2020 20 %
E 30
13 13
28| © 312
Knob Knob
| sHE 4 4 Halio
g ST 4 &l o FriHiE g
5| ENE==S - =
== 9 T i ! = F B
- IHI] o [TIEIT -
12-M3 40P ERRE 12-M3 40P
4-m240p . - 4-m240p
. ELE
i
Table surface

(Bolt hole for M3)

~| :’[ 60 4-3.5THRU $6C'BORE

abejg pazuoloN

Controller

Linear
Ball

CAVE-X

Linear ball

|

70



abelg pazuolo

Goniometer

Rotary

LA

Linear
Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide

70
80

|

s
()

027

Motorized Stage

XY-axis Linear Ball Guide : PMG650/PMG750

Dimensions

PMG650T-L[]-C

201

<]

B —3 !
4-4.5THRU &BC'BORE %0 ol

(Bolt hole for M4)

| PmGesoT-ROI-C

[ \\8 -4 40P
\ 4-M3 40P

Table surface

= =

1 b e &)
<o %0 '\ 4-4.5THRU GBC'BORE

(Bolt hole for M4)

PMG650T-L[1-C4 2

95 126 126 95
825 168 80 20 20 60 16 825
25_ 25 25_ 25
132 32|
g inail
o . s TE e = e
&R =T = B
— 4 g + — LY
T == SHERS R = ——
smaaop /) g} H:“ m ‘ Hu” 3 \\_&-ma app
amzap / \_e-3 a0p
i ﬁ;}g{\@n Kot/ 020 ||
Table surtace L, Tedlesutace
LB [t =l 1 =il
4-4.5THRU ©BC'BORE,/ 90 ol ol 9% \ 4-4.5THRU 08C'BORE
(Ralf hala for M4Y (Bolt hole for M4)
PMG650M-L[]-C | PMGesoM-RO-C
75 126 126 75
69 16 60 20 20 &0 168 69
25_ 25 %5_ 25
T T
3 NIRRT = o [T i
o 5 N —
3 —] [, ¢ .t " B LU ol (| s 3
g 1> 4 128 8 + R ==
= i = S + =
PR et = . e N e e
IS i1 g 1111
vasior /) [TTTT BN e
4-M3 40P 4-M3 40P
o K
0| B ;J
2
Knob
12 A/
|
- Table surface
8|5 .
4-45THRU QBC'BORE %0 s et % \ 4-4.5THRU G8C'BORE

1-4.5THRU (BC'BORE
(Bolt hole for M4)

TBoft e for Md) TBoTt e for M4)
PMG650M-L[]-C4 I PMG650M-R[]-C4
221
% - 126 126 95
825 68__ 60 20 20 60 168 825
‘25‘25‘\2 3‘25‘25‘
Knob - ] ,‘. & s l ] — Knob
j ] (£, ¢ 4 » d AR = Ve
g = BECR 4= 5]
— f* - < g | |« -+ ft% —] ]
peSSE R e =i 2 = e > P
sanse /{g (L] : [N N e
4-M3 40P 4-M3 40P
T
|
& 8% ®
i W
Table surface Table surface
- <
8%

L e — |
ol 90 \4-4.5THRU G8C'BORE

(Bolt hole for M4)



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

PART

Dimensions g
S
PMG750T-L(]-C = _ | PmG750T-RO-C w 8
69 15, 307030 2 m N 69 =
—fa_ o N
30 X (1]
g] e ] Knob o
el + 41 o
ZEAn W B 4
lof 8 g1 e | & 1& ]l . Q
2 u v = == «Q
I g | i — =
8-M4 40P
[ITTRN )
o = 8 -M3 4DP
=
Knob,
@n‘Z !
< o) Tea -
| :“ - f L L Iﬁiﬁi' _
4-4.5THRU H8C'BORE / 100 ] <t 100 4-4.5THRU $8C'BORE
Bolthole for M) (Bolt hoe for M4) W
PMG750T-L[]-C4
% = w % -
825 168 70 20, 20 70 16.8 825
30 30 30 30
i Al
30 30]
g e} R gh = X: 8 GURGIE | i | e Goniometer
ER =L 4 i _E R = 5]
=== = = E '7 = Yk = = otary
wwae /A ] § (TR e
! e /e ! Controller
Tablesuface < Table surface
! \
it o BiEN
4-4,5THRU ©BC'BORE, 100 =] ST 100 4-4.5THRU HBC'BORE
(Ralt hola for M4Y (Bolt hole for M4)
PMG750M-L[-C .
1
75 136
69 6.8, 70 20
30 30
—Ja0_
130
- Linear
Knob Bl <
3\ = g Ball
=1 . QI S
. ERRE
e El f + I
EEHEL\ M= gl
]
s/ [ TILTT] CAVE-X
8 -M3 40P .
e Linear ball
N
Knob
h/ P12
Tablesurface
- = 5|y
N = el
4-4.5THRU $8C'BORE / 100 m" = ol 100 4-4.5THRU $8C'BORE
(Bolt hole for M4) (Bolt hole for M4)
PMG750M-L[-C4
95 136
825 6.8 70 20_
30 30
L
130
2 i
Knob gt ¢ 1Lt
T ] 4 ng
g E==(Eh *'l;%ﬁ
N + sl | B
=T =11 %Ras .
— Ef
8-M4 40P / 2 ‘ H:“ H h
8-M3 40P / o P
4 dg
i
Table surface

4-4.5THRU BC'BORE 100 4]

(Bolt hole for W4)

ol

100 4-4.5THRU 8C'BORE

{Boft e for M4)




| Motorized

Stage

m X-axis Linear Ball Guide:PZG413/PZG513/PZG615/PZG715

abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide

PZG413T-LA-C

*The picture is an image.

PZG413T-LA-C4

PZG413M-LA-C

PZG413

M-LA-C[][]

PZG413M-LA-C4

"

CCables, Positioning pin P. 1-207 ~
CkElectrical specification P.1- PG-041~

H Connector specifications

*For Code T,2-phase stepping motor, our controller (DS102/112)
cannot be used.

6] 6
n Stage table size/Travel distance E Motor option E Motor option
Code size Travel distance Code Specification Code Specification
413 | CJ40mm C Standard(5 Phase stepping motor) MA With ic brake(]42_100V)
513 | [J50mm 13mm D High-torque MB With electromagnetic brake(_142_200V)
615 | C160mm 15mm E | High resolution PA” | oSTEP (AR Series)
715 | C70mm T | 2 Phase stepping motor ZA | aSTEP (AZ Series)
UA Servo motor(J4)

M Panel mount

Code Specification Application Motor Sensor options
M Panel mount C|D|E|T EE P
ig tai P Application Motor
Pig tail C|DJ|E|T Code Specification
T [ Connector None MA [MB| PA | ZA | UA CIDE|T e
Blank | 3 Sensor(CWLS,0RG1,CCWLS) (AKX K BN AN K BK 3K 2K )
4 | 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 3K 3K ) [ 3K )

Cable option

Cable option (Motor: MA, MB, PA, ZA, EA, UG, UA)

Pig tail

Connector None

!

For 2-phase motor

*No common connector: The motor cable and sensor cable
are not consolidated into a common connector.

E] sensor cover location

Code Specification Cable type Cable type
Blank | Cable is not included (Standard) = =
A |2m D214-2-2E =
B | 2m One end loose D214-2-2EK DS1-20-2-26K
C |4m D214-2-4E =
D | 4m One end loose D214-2-4EK DS1-2C-2-4EK
E | Only connector (Cable is not included) = =
F | Robot cable 2m D214-2-2R =
G| Robot cable 2m ong end loose D214-2-2RK |  DS1-2C-2-2RK
H | Robot cable 4m D214-2-4R =
J | Robot cable 4m one end loose D214-2-4RK |  DS1-2C-2-4RK

*One end loose position to only stage opposite side.

Code Specification

Sensor cable 2m One end loose wire

3 Sensor cable 3m One end loose wire

5 Sensor cable 5m One end loose wire

Driver Amplifier (3m Cable Set)

Driver Amplifier (5m Cable Set)

Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.

L position For 4 sensors, only the Code:Blank(no-cable) option is available.
For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)
L
QeGSR (3 Motor @) Cable/Driver combination
Onposite hand The screwdriver (amplifier) cable Blank 3 5 3A 5A
PP Motor MA-MB/PA-ZA/UA MA-MBPA-ZA UA MA-MBPA-ZA UA
Sensor 2m 3m 5m 3m 5m
R . Motor 3m 5m
Electromagnetic brake None sm | — [ — sm [ — [ —
Encoder — | =] 3m - — | 5m
Driver (Amplifier) None Available
n Sensor logic
A AlIN.C.
B AlIN.O.
C N.C.ORG1 and ORG2 are N.O.
*ORG2 (slit origin sensor) is only supported when 4-sensor
specification is selected.
Selection example
. ” Size: [140 connector specifications Sensor cover location Sensor logic Motor option Sensor options
Desired specifica- | frayel length: 13mm | + T pigtai + L position + A AllN.C. + C: Standard +| Blank:3Sensor | —
PZG413 PZG413T PZG413T-L PZG413T-LA PZG413T-LA-C PZG413T-LA-C
Cable option
+ A:2m I>PZG413T-LA-CA
PZG413T-LA-CA



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PZG413[]-LA-C PZG513[]-LA- C PZG615[]-LA- C PZG715[]-LA- C
(Opposite hand) PZG413[]-RA-C PZG513[]-RA-C PZG615[]-RA- C PZG715[]-RA- C g
=|Travel distance 13mm 15mm 9._
8 Stage table size 40x40mm | 50x50mm 60x60mm | 70x70mm (o]
§. Feed screw ( Ball screw) 6 Lead 1 E
§ £|Guide Linear Ball Guide )
§ Main material— Surface finishing Stainless-Electroless nickel plating o
gﬁ Weight Pig tail 0.58kg 0.77kg 0.91kg 1.12kg 9
g Panel mount 0.57kg 0.76kg 0.90kg 1.11kg Q
> |Resolution/Pulse 2um(Full)/1um(Half) (o]
" £ |MAX speed 10mm/sec @
- 2| Load capacity 5kgf [49N]
@ Limit sensor Available
2 |Origin sensor (ORG1) Available _
= |Slit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-10 [ 4 of M4—12 [ 4 0f M3-12
%’- Uni-directional positioning accuracy 6um -
8 | Repeatability positioning accuracy +0.5ym
2 ¥]Lost motion 1pm
8 g |(Backlash 0.54m
S 2|[Straightness 1um
5 Pitching/Yawing 15"/10" W
h The SPEC varies depending on the motor. -

Goniometer
[l Resolution - MAX speed - Weight Rotary
Motor code C D E T

Type Standard High-torque High resolution 2 Phase stepping motor
TS 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB —
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1pm 1pm/0.5um 5um/2.5um
Resolution i
M |/c2r[()> Stne‘r)esolution) 0.1ym 0.05pm -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PZGA13 Pig tail 0.58kg 0.62kg 0.67kg 0.71kg 0.58kg 0.62kg 0.58kg —
Panel mount 0.57kg 0.61kg 0.66kg 0.70kg 0.57kg 0.61kg 0.57kg -
PZG513 Pig tail 0.77kg 0.81kg 0.86kg 0.90kg 0.77kg 0.81kg 0.77kg -
Weight Panel mount 0.76kg 0.80kg 0.85kg 0.89kg 0.76kg 0.80kg 0.76kg — e
PZ6615 Pig tail 0.91kg 0.95kg 1.00kg 1.04kg 0.91kg 0.95kg 0.91kg - Ball
Panel mount 0.90kg 0.94kg 0.99kg 1.03kg 0.90kg 0.94kg 0.90kg -
PIGT15 Pig tail 1.12kg 1.16kg 1.21kg 1.25kg 1.12kg 1.16kg 1.12kg —
Panel mount 1.11kg 1.15kg 1.20kg 1.24kg 1.11kg 1.15kg 1.11kg -
Motor code MA - MB PA ZA UA SQZ_E'J;)“(
Type With electromagnetic brake[J42mm QSTEP (AR) aSTEP (AZ) AC servo motor(J4)
TS 3 Sensor PKESASMC-AT ARM24SAK AZM24AK HG-KR053
4 Sensor - — —
Step angle 0.72° — - -
Full/Half 2um/1um
Resolution Micro step ' 0.1um 1pm(Set to 1000P/R) 1pum(Set to 1000P/R) 22 Bit encoder(4194304P/R)*?
(1/20 On resolution)
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PZG413 0.99kg 1.08kg 0.62kg - 0.62kg — 0.92kg -
Weight PzG513 Connector 1.18kg 1.27kg 0.81kg - 0.81kg — 1.11kg —
PZG615 None 1.32kg 1.41kg 0.95kg - 0.95kg - 1.25kg -
PZG715 1.53kg 1.62kg 1.16kg - 1.16kg — 1.46kg -

*1 Model is our own management model.
*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.

(180



Motorized Stage

H H H L]
Z-axis Linear Ball Guide:PZG413/PZG513
=
o
& PZG413T-L)-C i | PzeasTROC
- Sy SN
N - i
N i i
o
(7))
- ol 1
g ¢12 P12
Knob Knob
1 i n 4
_ A LB e
4 oie 2 ;E IR
BED - T
el 8-M3 4DP AR a3 a3 A 8-M3 4DP
%‘ S0P || I
_ Lms3’ 18 % i 32 (Bolt hole) 32 (Bolt hole) HE gjfﬂ:?orm)
16.8] 40 40 [16.8
PZGA413T-L[-C4 % | Pzea13tRO-C4
= ==
Xz = =
o 20 Knob Knob 20 H
‘ ] [
Controller I T
4 gs e fE 4
ML sm3ap 1. 3 3 |, IN\_8-M3 40P
$ T b L — L — d ™
Lj%j 18 (E;{ﬁ:,:':srum) i 32(Bolt hole) 32(Bolt hole) i % 18 l%‘“l
16.8 40 40 16.8|
56.8 56.8
PZGA413M-L[1-C | Pzea1am-RO-C
53 i 12 12 il 53
39 AR Knob Knob AR 39
L% 3
Linear mu n - us]
Ball mt ‘ ‘ {m
) ['5) H
) . ”,;’ ] ] E A ®
0 0
CAVE-X 1o 2 T B Lt g o
Linear ball © ©
® * # ?’g g ol # # ®
Ly I IS
. q: 8 -M3 4DP . 3 3 . 8 -M3 4DP :mi:
4_{[16] 4-3.5THRU 168116 /16 16 16 | 168 4-3.5THRU LIl
31 _| 18 | Bolt hole for M3) 32 (Bolt hole) 32 (Bolt hole) (Bolt hole for M3) .18 |_ 31
18] 40 40 18
58 58
PZG413M-L[]-C4 I PZG413M-R[]-C4
Im ®20  Knob Knob - 20 m\ 539
Lo =P k==
@ o o ®
J S E F
(180 = =
o | BE ot
& 4| e ) VO
m 8 -M3 4DP ’ Jﬂ 3 8 8-M3 40P %
m 16.8/|16 |16 1616 /168 L16]| 4
4-3.5THRU 168 168 4-3.5THRU |4
{Bolt hole for M3) 32 {Bolt hole) 32 (Bolt hole) (Bolt hole for M3)
62 62




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514
QPARTER

Dimensions

PZG513T-L[]-C

| Pzas13TRO-C

T

g Bt

abejg pazuoloN

»12 12 |
Knob Knob ‘
2|3 a2 b
le L e (N 3 8|
74 " ] + 5
L °£S 801 + 11 H
4-M2 4DP 3823 == Fae 4 5 4-M2 4DP
"’L 12-M3 40P £ 8 AL TNa2-ws 400
= : : :
6 w0 | 4-35THRU 13 13 4-35THRU L2 s
57" |18\t roe o7 30 o] Bolthole for 3) 18— 57
40 (Bolt hole) 40 (Bolt hole) H
50 [16.8|
= -
PZG513T-L[-C4 P | Pzes13T-R-Cc4 4 W
7\ mn
j -
5579 ! - Kaob K,\nm\‘[—oz% %
L - ‘ :
‘ i - Goniometer
mE EE Rotary
e 4 b 4
[+ § ﬁt Et 3 t:#
b 10 °£E # d + 14
4-M2 40P # Lt — = — 4| 4-M2 4DP
4 s IV & nn owsape Controller
= : —
6 40 13 13 ¥ LL.LJ
] 57 18, (Baﬁ;?:;“m) [0 3 TR (Bu‘tliﬂslg:sum) 18 57
20 | 20
™ ]| 40@ott hoey a0(Bolthole
16.8 50 50 16.8|
66.8 668
| Pzes13mM-RO-C
12 12 _ )jl
Knob Knob R
"}
— ol @ — ﬁ Linear
o N ©N lo o Ball
“ 0
2 8 K 1
i ? s it
R B 8 M %
SRR g b Rank: 4-M240P CAVE-X
4 -M2 4DP SIET. Jge - Linear ball
12 -M3 4DP AL e ® YIRS 12 -M3 4DP
13 13
4-35THRU 4-3.5THRU
57 18 |"(Bolt hole for M3) 30 30 {Bolt hole for M3)
20| 20 20| 20
40 (Bolt hole) 40 (Bolt hole)
68 50 50 |16
66.8 66.8
PZG513M-LJ-C4 | PzG513M-RCI-C4
i A
M\ ¢20 Knob Knob  p20 1A
== =
o ] =2
0| f—:or 0 0 — |e
;7 i N
0 0
P
e 3 R T
A= SRR R 170
< Ty & & FRggS
vawar L e bt e
—'® ®I=
12 -M3 4DP JIRS E] s Al 12 -M3 4DP
| e (R o
6] 4 | 4-3.5THRU 13 13 435THRY |40 ||
57 18 ["Bolt hole for M3) 30 30 {Bolt hole for M3) 57 m
f6.8[ [ 20 | 20 (20 20 [t68)
40 (Bolt hole) 40 (Bolt hole)
17] 50 50 |17
67 67



abels pazlojo\

Goniometer

LA

Linear
Ball

CAVE-X

Linear ball

Motorized Stage

/-axis Linear Ball Guide:PZG615/PZG715

Dimensions

PZG615T-L[1-C

4-4.5THRU
(Bolt hole for M4)

8-M4 40P

912

e

83.5

775

4-M3 40P

L
5

168..

|25 25|
60

| Pzaet1sTRO-C

12 |
Knob ‘
|
)]
IS
lo o
g S
| pp——
Sl T
3 "
3 ¢ R
/1Ly
4
ol & |
8 4 NS
32|
5 _| 2!
50 (Bolt hole)
60 [16.8]
76.8

4 -M3 40P
| 4-MS4DP

8-M4 40P

4-45THRU | ﬂi’
{Bolt hole for M4) 118142

PZG615T-L[1-C4

4-4.5THRU
42 18_| (Bolt hole for M4)

4-M3 40P
amsap |

8-M4 40P

1035

1885

14

5

S
s
B b
2
2%

25 _|_25
50(Bolt hole)
8 60

| PzGe15T-ROI-C4

Knob

et O e
A 11

20

1035

1885

4]
+

4]
+*?

A
T
"

# N\ e

BT %
i
f

60 16.8]

4-M13 40P
| ——==

8-M4 40P

__4-45THRU _
{Bolt hole for M4) |18, 42

1L

| PzGe15M-RO-C

m ®12 P12 m
Knob Knob (1
O u}
F:; 00 0l q:j
N — SE BN A
i ‘E : B g g \E\ i
* + 1 9 - - 9 [ + +
amsaop | f 1o o8 g o of | 4-Msa0p
e O T & L4
_/ﬁ % |4 -] o | ¢
8-M4 4DP RN ERE g 8[| LDl emasoe
5 25 32 32 25
4-45THRU 4-4 5THRU
42|18 | Bolt hole for M4) 25_|_25 5_| 25 (Bolt hole for Mi4) 18142
50 (Bolt hole) 50 (Bolt hole)
168 60 60  [168
768 768
PZG615M-L]-C4 | PzGe1sM-RO-C4
64 m m
M 20 Knob Knob 20 m
L |
@ w0 wn (0]
e P
58 85
] w0
i==] =<3
. \ 3\ 2 ® \i \ 5
+ 4T Ig 9 e o
4-M3 4DP o MR g | lo- 4 4-M3 4DP
=5 4 ~ L4 4=
I 4 4— -] & | ¢
w / , E] B
5 |25 32 32 2
4-45THRU 4-45THRU
42__| 18 ["Boit hole for M4) 55?3 o 550 50—?3 n ﬁ5| ; {Bolt hole for Mia) |18 42
oIt hole, oIt hole,
168_ 60 60 _[168]
768 768




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Dimensions

PART

PZG715T-L[]-C f | Pze715TRO-C |
% 5
7 : 12 012 7
& ‘ T =\ [
[ g Bl -
e aE =
BT 7
8 -M3 4DP e - 2| 8 -M3 4DP
M~ B ﬁ 8
o 1| o |lol |
”F ‘ ‘ samaoe AL L[] ® g I\._8.-M4 4DP ‘ N
Vol w0 | 30 3 a0 ||
T |18 % 0 (Bolt hole) 40 (Bolt holg) m% 8| " T
30 30 30 30
[16.8| 7 70 16.8]
86.8 86.8
PZG715T-L[]-C4 i I PZG715T-R[]-C4 il
i i
%% 20 Koo Kb 420 %
V=
2 2 -
I b = .t
8-M3 40P ?‘t} ‘Fji X i o o N r 7?"—# #;? 8-M3 40P
T 2 ™~ ~ g T
SR S
o1 o |l
jﬁ &M 40P RN g g ] 84 40P J
’ LLLJ 4-35THRU 30 4-35THRU LL-L-A '
55 18 | Golthole or M) 40(Bolt hole) 40(Bolt hole) (Bolthole for M3)_ |18, 55
30 30 30 30
16.8] 7 0 16.8]
86.8 86.8
| PzG715M-RO-C
m 12 12 }n
% Knob Knob %
0 0
/rp.x‘. L E g S E l® .):Fj\L
V=il o o il
< r;? — 7 IR [ — [, % ¥
R 3 3 S
8 -M3 4DP s 4 —=te S le- 4 8 -M3 40P
R e L 8" o
b & —& to— & E:
/ . 8-M4 4DP ARSI S (RPN 8-M4 4DP .
4 40 30 30 40 4
4-3.5THRU 4-3.5THRU
55 Bolt hole for M3) 40 (Bolt hole) 40 (Bolt hole) {Bolt hole for M3) 18 55
30 30 30 30
16.8] 70 70 16.8]
86.8 86.8
PZG715M-L]-C4 | PzG715M-ROI-C4
i i
M @20 Knob Knob  g20 /TN
® 0 © o
L 58 gs I
0 0
1 IE) : i g g [ IEI K
B R 8 T—% +
8 -M3 4DP o -4 =R S - <] 8 -M3 4DP
bt I8 8Lt 4
i 4 4 (e . b
= =
4 40 | 30 30 /ﬂ\ 40 .
4-35THRU 4-3.5THRU
55 |18 |\Goit nole for 13 40 (Bolt hole) 40 (Bolt hole) Bt hole for 13 18|55
30 | 30 30 | 30
1168 7 70 1168
86.8 868

abejg pazuoloN

Controller

Linear
Ball

CAVE-X

Linear ball




abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

| Motorized Stage

XYZ-axis Linear Ball Guide:PMZG413/PMZG513/PMZG615/PMZGT715

PMZG413T-LA-C

*The picture is an image.

PMZG413T-LA-C4

PMZG413M-LA-C

PMZG413

M-L

PMZG413M-LA-C4

%A dedicated hex wrench is included

to secure the lower axis of the XY.

CCables, Positioning pin P. 1-207 ~
CkElectrical specification P.1- PG-041~

a
[ stage table size/Travel distance H Wotor option I Wotor option
Code size Travel distance Code Specification Code Specification
413 | [140mm 13mm C Standard(5 Phase stepping motor) MA With ic brake((142_100V)
513 [ )50mm D | High-torque MB | with ic brake(]42_200V)
615 | [160mm 15mm E | High resolution PA aSTEP (AR Ser.ies)
715 | C170mm T | 2 Phase stepping motor ZA | aSTEP (AZ Series)

H Connector specifications

*For Code T,2-phase stepping motor, our controller (DS102/112)
cannot be used.

Servo motor(J4)

Code Specification Application Motor Sensor options
M Panel mount C|D|E|T E E P e
T Pig tail C|DJE|T Code Specification RRRIBE p;) lca;’l:: ';::r 5 || 2 [
Connector None MA|MB| PA | ZA | UA
Blank | 3 Sensor(CWLS,0RG1,CCWLS) ® 0600 000 o o
4 4 Sensor(CWLS,0RG1,CCWLS,0RG2) [ 2K 3K J [ 3K J
M | Panel mount Cable option Cable option (Motor: MA, MB, PA, ZA, EA, UG, UA)
P For 2-phase motor
Code Specification Cable type Ca%le ype Code Specification
Pig tail Connector None is noti - —
9 Bl:\nk ge::le s not ncuded (Stancard) D214-20F — Blank | Sensor cable 2m One end loose wire
5] B_| 2m One end loose D214-2-26K | DSI20-226K g :::zg: gzg:z 32 g:: ::g :gz: :Vv:::
T ) C |[4m D214-2-4E = - —
D_| 4m One end loose D214-2-4EK_| DS1-20-2-4EK g: g:zz: :2”::22[ gz g:g:z ::3
E | Only connector (Cable is not included) = = P
F | Robot cable 2m D214-2-2R =
G| Robot cable 2m ong end loose D214-2-2RK | DS1-2C-2-2RK
*No common connector: The motor cable and sensor cable are H | Robot cable 4m D214-2-4R =
not consolidated into a common connector. J | Robot cable 4m one end loose D214-2-4RK | DS1-2C-2-4RK

E] sensor cover location

*One end loose position to only stage opposite side.

X-axis L, Y-axis R, Z-axis L

Note:For CodeT,2-phase stepping, only one end rose (B, D, G, J)is supported.
For 4 sensors, only the Code:Blank(no-cable) option is available.
For 4 sensors, specify the 4-sensor compatible cable.(P1-PG-045,P.1-207~)

L
WL IEHE: (3 Motor @) Cable/Driver combination
The screwdriver (amplifier) cable  Blank 3 5 3A 5A
Motor MA - MB/PA-ZA/UA MA-MBPA-ZA UA MA-MB PA-ZA
R Sensor 2m 3m 5m 3m 5m
Cable Motor 3m 5m
Electromagnetic brake None sm | — [ — sm | — [ —
- - — Encoder — | =] 3m — | =] 5m
Motor code is UA, Y axis will be reversed. Driver (Amplifier) None Available
n Sensor logic
A AlIN.C.
B AllN.O.
C N.C.ORG1 and ORG2 are N.O.
*ORG2 (slit origin sensor) is only supported when 4-sensor
specification is selected.
Selection example
. ” Size: (140 Connector specifica- Sensor cover location Sensor logic Motor option Sensor options
Desired specifica- | Travel length: 13mm | | tion T Pgtalpital | 4 L + AAINC. + C: Standard + | Blank:3Sensor | —
PMZG413 PMZG413T PMZG413T-L PMZG413T-LA PMZG413T-LA-C PMZG413T-LA-C
Cable option
+ A:2m PMZG413T-LA-CA
PMZG413T-LA-CA



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

B Specification

SPEC
Model PMZG413[J-LA-C PMZG513[]-LA-C PMZG615[]-LA-C PMZG715[]-LA-C
(Opposite hand) PMZG413[]-RA- C PMZG513[ ]-RA- C PMZG615[ ]-RA- C PMZG715[]-RA- C
< |[Travel distance 13mm 15mm
2 [Stage table size 40x40mm [ 50x50mm 60x60mm [ 70x70mm
§' Feed screw ( Ball screw) 6 Lead 1
» |Guide Linear Ball Guide
§ Main material— Surface finishing Stainless—Electroless nickel plating
g Weight Pig tail 1.58kg 1.99kg 2.37kg 2.84kg
g Panel mount 1.55kg 1.96kg 2.34kg 2.81kg
(.‘: = Resolution/Pulse 2um(Full)/1pm(Half)
S, 8 [MAX speed 10mm/sec
5 3 [Load capacity 5kgf [49N]
S ~[Squareness Sum/Full stroke (XY-axis)
® Limit sensor Available
2 |Origin sensor (ORG1) Available
= [siit origin sensor(ORG2) - *When selecting the 4 sensor option: Available
Provided screw (Hexagon-headed bolt) 4 of M3-8 4 of M4-8
2 Uni-directional positioning accuracy 6um
2 ‘2|Repeatability positioning accuracy +0.5um
8 2|Lost motion 1um
§ = [Backlash 0.50m
S < |straightness 1um
2 [Pitching/Yawing 15"/10"
4 The SPEC varies depending on the motor.
[l Resolution - MAX speed - Weight
Motor code (o] D E T
Type Standard High-torque High resolution 2 Phase stepping motor
Wotor model 1 3 Sensor €005C-90215P-1 PK525HPB-C1 PK523HPMB-C1 SJA28N32-0674B-01
4 Sensor PK523HPB-C15 PK525HPB PK523HPMB -
Step angle 0.72° 0.36° 1.8°
Full/Half 2um/1um 1um/0.5um 5um/2.5ym
Resolution i
M gg Stnefesolution) 0.1ym 0.05um -
MAX speed 10mm/sec 30mm/sec 25mm/sec 10mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMZG413 Pig tail 1.58kg 1.70kg 1.85kg 1.97kg 1.58kg 1.70kg 1.58kg —
Panel mount 1.55kg 1.67kg 1.82kg 1.94kg 1.55kg 1.67kg 1.55kg —
PMZG513 Pig tail 1.99kg 2.11kg 2.26kg 2.38kg 1.99kg 2.11kg 1.99kg -
Weight Panel mount 1.96kg 2.08kg 2.23kg 2.35kg 1.96kg 2.08kg 1.96kg —
PMZG515 Pig tail 2.37kg 2.49kg 2.64kg 2.76kg 2.37kg 2.49g 2.37kg —
Panel mount 2.34kg 2.46kg 2.61kg 2.73kg 2.34kg 2.46kg 2.34kg —
PMZG715 Pig tail 2.84kg 2.96kg 3.11kg 3.23kg 2.84kg 2.96kg 2.84kg -
Panel mount 2.81kg 2.93kg 3.08kg 3.20kg 2.81kg 2.93kg 2.81kg -
Motor code MA - MB PA ZA UA
Type With electromagnetic brake[J42mm aSTEP (AR) aSTEP (AZ) AC servo motor(J4)
3 Sensor ARM24SAK AZM24AK HG-KR053
Motor model* 1 PKE545MC-A1
4 Sensor — - —
Step angle 0.72° — — —
Full/Half 2um/1pm
Resolution Micro step . 04um 1pum(Set to 1000P/R) 1pm(Set to 1000P/R) 22 Bit encoder (4194304P/R)*?
(1/20 On resolution)
MAX speed 20mm/sec 35mm/sec 40mm/sec 50mm/sec
Number of sensors 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor 3 Sensor 4 Sensor
PMZG413 2.81kg 3.08kg 1.70kg - 1.70kg - 2.60kg -
Weight PMZG513  |Connector 3.22kg 3.49kg 2.11kg — 2.11kg — 3.01kg —
PMZzG615  [None 3.60kg 3.87kg 2.49%g — 2.49kg - 3.39%g -
PMZG715 4.07kg 4.34kg 2.96kg - 2.96kg - 3.86kg -

*1 Model is our own management model.

*2 When constructing an absolute system, it is necessary to install a battery in the amplifier.

abejg pazuoloN

Goniometer

Rotary

Controller

Linear
Ball

CAVE-X

Linear ball

(180



abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

S
G)

Motorized Stage

XYZ-axis Linear Ball Guide :PMZG413/PMZG513
- L]
Dimensions
PMZG413T-L(J-C | PmMzG413T-RO-C
28 _ 4“1 “ 28 12
55 55 Knob
- 16 16
v
gr F
0| 0| ol © T
g ! S5 @1,
Knob & & Knob 8 -M3 4DP
—/\ % 3 o T
= 8 SRR ——— b ;
3t f | . — I \ﬁt
< o . [ H 775 < EE 775 H 32| RE 616 “ <
% [ \4-asmhRugeceore 4| 25| 40 | 835 | 835 | 40025 4 4.35THRU G6C'BORE / 32 (Balthole) | 5|
(Bolt hole for M3) 1525 1525 {Bolt hole for M3) © 7;55
7235
PMZG413T-L[]-C4 I PMZG413T-R[]-C4
28 551” 28 Knob 20
16 I
R é o T
I~ o 10
8-M3 40P Knob 3| 3| foob 8-M3 4DP.
Knob. ol | - o Knob
" h e e = /] o
s] s ) L SETE
21 5 16116 :]q ‘ 32 H 9 8l =l <l gl - ﬁ] 16116 g| Bl
° 32(Bolt hole) \d-3.5THRU G6C'BORE o flos| w0 ] i3] 4 4-35THRU G6C'BORE/ 32(Bolt hole)
9 (Bolt hole for M3) 172.5 (Bolt hole for M3) 9
103.5 40 40 103.5
1435 1435
PMZG413M-L[]-C I PMZG413M-R[]-C
12 28 41 41_ 28 12
Fl Knob 55 55 Knob [R
% ‘ e 16 ] ‘ %
0 "
! S Sleol g1
L] ? s § SIEEE S
8-M3 4DP Knob 3 3l koo 8-M3 40P
Knob 0 — 0 Knob
R ; — 1 g L= R
e ] [o M) [ i gy ] =
=g 16116 ZL 32 775 a1e 2|8 775 32 < 2[ l16/16 3
32 (Bolt hole) 4-3.5THRU G6C'BORE 4 ‘25 | 40 83.5 83.5 40 | 25 | 4 4-3.5THRU Q6C'BORE ‘ 32 (Bolt hole)|
77.5 (Bolt hole for M3) 152.5 152.5 (Bolt hole for M3) 7.5
83.5 40 40 835
1235 1235
PMZG413M-L[]-C4 I PMZG413M-R[]-C4
28 41 428
F] 20 Knob f 55 5 Knob - 520 d&
% i AL A ‘ %
n )
58 g5
) ©
12l < el 21
i = T Knob g g Knob . . i 8 -M3 4DP
, 840 e o o T Kb
N R el g ® n
SIS (] e e S B A I s I == cna W S
slg N [32] o1 I 91 g <l 1616 EE
& 32 (B;lt hole) 4-35THRU GGC'BORE 41L25] 40 s 103.5 103.;372 - 012504 45 5mHRU 06C'BORE 32 (Bog1hole)
1035 20 (Bolt hole for M3) 2 (Bolt hole for M3) m 1035
1435 143.5




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

Dimensions

COPART M

PMZG513T-L(J-C | Pmzes13T-RO-C =
)ﬂ -+
% A o
H =
N
®
P12 28 5 1 1. 50 28 12 o
Knob [1T6a 64 Knob »
23 R : 3
, L 3
g ' SOERES G
4-m2.40p ey <) : - - & e 4 M2 40p
12 -M3 4DP EE] Knob = B [Knob e 12 -M3 4DP
Knob e — = m— p o — e Knob
[ ] = - ! = = — | - = B
&) Oi—=—H] o A=
< o allll]] ER 4 75 glel el 775 a0 RE 1]+ o <
< 30 L 4-35THRU G6C'BORE 4_|| 24|50 s 835 iy 50 _|24)| 4 sstiny gooaone /[ 30 ©
10 Bot ot [20120]1 "{Bolt hole for M3) K ot [
75 175
835 50 50 835
B ) _
PMZG513T-L[]-C4 | Pmzes13T-RO-C4 W
o . xvz
20 Ko ‘\l m o l—/‘ Knob g0
i 1
— — Goniometer
: . otary
ﬁ* 4 1. & 5 e i *ﬁ
4-M2 4DP i 5 E‘ N H gl ﬁ' i 4 4-M2 4DP
12:M3 40P @l 8l N 9 EE AL 2TCE A
AN b S L R = 5 /|
at “ Fi=— { | e H
= s d- slel eld sl 1 g Controller
ﬂ'%” \d-3.5THRU (6C'BORE 4-3.5THRU 96C'BORE "&E'ﬂ
2020 (Bolt hole for M3) (Bolt hole for M3) 2020
40(Bolt hole) 40(Bolt hole)
91 91
103.5 50 50 103.5
1535 1535
PMZG513M-L[]-C I PMZG513M-R[]-C
P12 1 1. 50 28 12
F Knob 64 Knob ﬂwk
Al NI
0|2 ey a
N BN Lﬁ Linear
ol = o 15 SEi Ball
4 -M2 4DP #77%‘% § § & %{77*ﬁ N 4 -M2 4DP
. ] K K
12 -M3 4DP o[g Knob g % Knob 82 12 -M3 4DP
Knob e . — ai = — 2 e Knob
& R TH ] \ | M ie] LQAV%)"(
inear ba
=3 3] QT< 40 775 8 591 28 775 40 ~ 3[ 13 3=
30 }ohpat \A-B.5THRU G6C'BORE 4 _[24] 50 = 835 83.5 = 550 24| 4 4-3.5THRU QBCBORE /711 30
40 @Bolthole) [ | (Bolt hole for M3) - (Bolt hole for M3) 1|40 @olt hole)
775 775
83.5 50 50 83.5
1335 1335
PMZG513M-L[]-C4 I PMZG513M-R[]-C4
1 1., 50
0 0
52 gls
0 0
— 2
it ::35 msgz : f 4-M2 4DP
4-M2 4DP b S § Ko EBE il
Knop  12-M34DP =g = S 32 12-M34P
\
R e = <
=] ; | =1 T | ] = =]
= g 13 ;iﬂ* 40 91 2 .‘QT v‘9r3 91 40 - ST ‘ ‘ 13 gl=
30[[ 11 \a-3.57HRU $6C'BORE 4 _|[24] 50 103.5 1035 5 50 |24 4 4-35THRU GBCBORE /135170 30
2020]| “Botholefor M3 .
10 Botthole) 0[20| | (Bolt hole for M3) 81.5 (Bolt hole for M3) 40 Bolthole
9 91
1035 50 50 1035
1535 1535




Motorized Stage

abels pazlojo\

Goniometer

Linear
Ball

CAVE-X

Linear ball

XYZ-axis Linear Ball Guide:PMZG615/PMZG715

Dimensions

PMZG615T-L[]-C

CEHEEEE

| PmzGe15T-RO-C

CIEHEH==

28 61 61 2 912
75 75 Knob
% % .
e —
9/ 1)
B3N
p b
4-M3 40P < 2 o8 b 4wz aop
h o ~ R
8-M4 4DP Knob 3| 3| oo ST 8-M4 4DP
L — — — ) — Kaob
EI % Ijli— Y #7 C — % 31
= o 32 ol 50 775 gle elg 75 50 <[ 32 & =
e 951 25]| \4-4.5THRU QBC'BORE 4 _||25| 60 835 835 60 25| 4 4-45THRU GBC'BORE / 175 |55 |
50 (Bolt hole) || | (Bolt hole for M4) 1795 1725 (Bolt hole for M4) 50 (Bolt hole)
775 775
835 60 60 835
1435 1435
PMZG615T-L[]-C4 | PmMzGe15T-ROI-C4
61 % 28
g20  Knob 75 T [
‘ 1 ‘
p L
%+ 9 ol ] |
4-M3 40P tf ‘* 7EFE & “ & 43 40P
g i g g 1
8-M4 4DP + F] e o/~ MR
- g & =eaE—s] ® == /|
iR == | =5
o Slel el o
= s 32 | 8= “ | 32 2| B
71 M 5 | 25 || \4-4.5THAU GBCBORE 4 |25 23 ?‘:a 5 10:; L%" 4 4-4.5THRU 8C'BORE/ |[35 | 2 o ‘
Sogotthole) || Bolt e or W3 1925 1925 Bl Tor W4T ™) sofeothole)
91 91
1035 60 60 1035
163.5 1635
PMZG615M-L[]-C I PMZG615M-R[]-C
P12 28 61 61 28 P12
)‘ﬁ Knob 75 75 Knob ﬁ‘k
% ) ! 25 25 ! , %
[re{nts (eI
28 B
= o]
B it T - T
4-M3 4DP ﬁ I Efog:i o o|& —I ﬁ 4-M3 4DP
RS ETN “lel =t
4 ot 1 Knob o o~ Knob —a s
8 -M4 4DP o I I~ N 8 -M4 4DP
nob — — Knob
g —I®| & +— 8
o TR E I T ] e =]
= 32 ole 50 775 gl elg 75 50 <[l 32 SE
© [25] 25| 4-4.5THRU $8C'BORE 4 |25 60 835 835 60 25 4 4-4.5THRU $8C'BORE [25]25] &
50 (Bolt hole) (Bolt hole for M4) 1725 1725 (Bolt hole for M4) 50 (Bolt hole)
775 775
83.5 60 60 83.5
1435 1435
PMZG615M-L[]-C4 I PMZG615M-R[]-C4
28 61 61 28
p] 20 Knob I 75 75 y Knob 20 [R
8§l 1 B g
o o
53 g
%
R i 0
L S B o — 9
amsae {7 T IE|R &9 4] ] 4 -maaop
e i
8 -M4 40P = et —] knoh & & Knob 1SS
E N o o 8 -M4 4DP
Knop ] & ~\ © & = Knob
H o8 S = 8 s
oo = T+t — T T 1w
g HH - | L | . - =]
=g 32 ol<f 50 91 8 .?T .‘518 91 50 <fe! 32 g:
o [25]25]] \4-4.5THRU @8C'BORE 4 | 25|~ 60 1035 1035 60 |25/ 4  4-4.STHRUO8C'BORE /' [To5 5
50 (Bolt hole) (Bolt hole for M4) 192.5 1925 (Bolt hole for M4) 50 (Bolt hole)
91 91
103.5 60 60 103.5
163.5 163.5




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514
QPARTER

Dimensions

PMZG715T-L-C | PmzG715TRO-C =
A A o
. i S
=
-
% N
$12 28 60 60 28 d12 3
Knob 74 B N 7 ]| Knob
23 % 2k E;
3
Sk EIS
4 ! x 3
o+ I e ot
8-M3 4DP ﬁ* =1 3 R = ﬁ 8-M3 4DP
—— e gt 1 SR Iy -
4 4 = l Knob S| Knob L L e ]
) 8-M44DP_~ EER 5 A ECN 8 -M4 4DP
; B £ = 8 — i i TR — 8 = - — ;
g | (. i | i I ] [=—crrm §]
< o ol glel  elg o] o <
= o 38 ‘ \ 4-4.5THRU G8CBORE 4 14%" gﬁ v ° %“L%"M 4 4-4,5THRU $BC'BORE ‘ 33 s =
30| 3 (Bolt hole for M4) 1715 1715 (Bolt hole for M4) 30| 3
60 (Bolt hole) [ " "1[60 @Bolt hole)
. 775
83.5 70 70 835
1535 1535 _
PMZG715T-L[J-C4 | PmzG715T-RO-C4 W
é
g20 Koob 7T Kb g0
1 1 I ‘ Kﬁ
T Goniometer
P Y
otary
T aia e T, o
RS SSahe 3 TEE ] e oty
s '4:?%7 Dt | Kknob g| Knob. c —%;»+« “
8-M4 40P = BE e N “ EE] = 8-M4 40P
Knob —— —  Knob
T\ I ﬁ 5 | =T & == 8| 5 ﬁ ] [y
< = o RS T i = = | T A~ 1. e e
& 1‘ =5 £ . P | - ; == ‘r g
b g 28 4-4.5THRY c:xcmRE 4 |4 L%'”—# a5 e #“L%J il 44 ;ﬂm BC'BORE, i: g = Controller
30| 30 (Bolt hole for M4) 1915 1915 (Bolt hole for M4) 30| 30
60Bothoe) || | [ 71| sowotthole
91 91
1035 70 70 1035
1735 1735
PMZG715M-L[]-C | PmzG715M-RO-C
12 28 60 60 28 12
Fl Knob 74 74 Knob d\{
% Ll ! il 11 ! i ) %
w2 De
ISR X EIS Linear
4 .
Q;* i U o 19 i f#* Ball
8-M3ap |} T m¢9§' ggmi P BT
ki 81 8¢ 4]
ooy BM0P NBRIEREE Kob g fae eig [ R 8 -4 40P "
I 2 — s g = 8 SR (07.\/5 4
o N - - 3 w©
) # ‘T + # Nt Linear ball
=g 30 ol e || 75 el «@lg 775 || 60 | <ol 30 Y=
hd 40 \4-4.5THRU $BC'BORE 4 4 70 83.5 835 70 14 4 4-4.5THRU 8C'BORE 10 ©
e (Boft hole for Ni4) ’ = 775 (Boft hole for Ni4) R
60 Bolthole)|[~ | ’ ’ ™ |60 (Bolt hole)
775 775
83.5 70 70 83.5
153.5 153.5
PMZG715M-L[ ]-C4 I PMZG715M-R[|-C4
FJ Knob 02 Knob f&
20 74 20
o L1 1] N\ &
© 0
3 sz
4 8
2 + ]
8-M3 40P SRE T ] s waaop
- i | gLEE=E
Knob & I Knob L] 4
(ogp M4 4DP 3 s /" [ EE LEUTL I
=] &| T 8 = v
o — = = T =
== I | mmisi iy
<lg 30 e | o glel els 91 60 <fel 30 g'I:
3 m 4-4.5THRU $8C'BORE 4 |hd~0 1035 105 70kl 4 4-45THRU $8C'BORE 0
30| 30 (Bolt hole for M4) ¢ 1915 1915 (Bolt hole for M4) 30| 30
60 (Bolthole) |~ | = - = - [T~ || 60(Bolthole)
91 9
1035 70 70 1035
1735 1735




abelg pazuolo

Linear
Ball

CAVE-X

Linear ball

Slide
Guide

[J80

| Motorized Stage

Electrical Specification: PG Series

Motor Specification

Motor code c | D E T
Model (*1) 3Sensor |  4Semsor |  3Sensor |  4Sensor |  3Sensor | 4Sensor 3 Sensor
Type 5 phase stepping motor (0.75A/Phase) 2 phase stepping motor (0.67A/Phase)
Feature Standard High-torque High resolution —
Model*1 C005C-90215P-1 | PK523HPB-C15 | PK525HPB-C1 | PK525HPB PK523HPMB-C1 | PK523HPMB SJA28N32-0674B-01
Step angle 0.72° 0.36° 1.8°
g1, Full/Half 2pm/1pm 1pm/0.5um 5um/2.5pm
= | Micro step (1/20 On resolution) 0.1ym 0.05pm -
1 With ele ic brake -
%: Manuf Oriental Motor Co., Ltd. [ SURUGA SEIKI
2 mass 0.11kg 0.2kg [ 0.11kg | 0.11kg
= — [ Clsize [128mm
® | L size 37mm 42mm [ 565mm [  61.5mm | 37mm 42mm 37mm
Excitation (moment) torque 0.048N - m 0.073N - m 0.038N - m 0.059N - m
Driver model CVD507-K-A9 -
Driver power input DC24V+10%  1.4A(MAX) —
Brake power input —
e Motor HR10A-10J-12P(73)(HRS) [ HR10A-10J-T0P(73)(HRS)
Pig tail =
Electromagnetic brake —
E P MotorA HR10A-10R-12P(73)(HRS) [ HR10A-10R-10P(73)(HRS)
8 Electromagnetic brake —_
Receiving Motor HR10A-10P-125(73)(HRS) | HR10A-10P-10S(73)(HRS)
connector | Electromagnetic brake —
54 CW Limit Sensor
g Pig tail Origin sensor (ORGT) HR10A-10J-12P(73)(HRS) HR10A-10J-10P(73)(HRS)
g St origin(ORG2) — | same asabove | — | sameasabove | | same as above —
o CW Lim Sensor
% Panel mount | Origin sensor (ORGT) HR10A-10R-12P(73)(HRS) HR10A-10R-10P(73)(HRS)
= Slit origin(ORG2) — | same asabove | — | sameasabove | | same as above —
CW Limit
?:ﬁ,?:lcl{]; Origin sensor (ORGT) HR10A-10P-125(73)(HRS) HR10A-10P-10S(73)(HRS)
Slit origin(ORG2) - Same as above - Same as above Same as above -
Limit sensor Available Available Available Available Available Available Available
Origin sensor (ORG1) Available Available Available Available Available Available Available
Slit origin sensor(ORG2) — Available — Available Available -
@ Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
g Power-supply voltage DC5~24V+5%
E_ Current i Total 60mA or less (100mA or less per 4 sensor)
§ Control output NPN open collector output DC30V 10mA or less
= Sensor logic option A On detection:Output transistor OFF (Non-continuity)
Output logic Sensor logic option B On detection:Output transistor ON (continuity)
s o ptn e S oo

*1 The electric specification of XY (PMG), Z (PZG), XYZ (PMZG) are the same. *2 See page@P.1-213~ for details of single motor specification.*3 Model is our own management model.

in allocation « Connection diagram

[Stage connection diagram)
Pigtail connector model
: HR10A-10J-12P(73) (HRS)

Panel mount specification : Connector

[Connection diagram((3)]

[Connection diagram((4)]

z
=
O 5 phase 1 | Motor lead (Blue) Blue 5 o
S model 1 [Motor lead (Blug) Biue ™\ | epping motor A red stepv :s"e‘om’
) : HR10A-10R-12P(73) (HRS) |2 | Motor lead (Red) Red 3 Motoread (Orange) Orange
C = I3 otorlead (0range Orange s g or
. = 4 [ Motor lead (Green) Green 4| Motor lead (Green) |———— Green
3 | 5 | Motor lead (Black) | Black ’_ 5 |Motor lead (Blackl _———— Black
D =3 6 CWLS output o 6 |OWLS output
. S g ECCWLS output L 7 [ CCWLS output L Limit sensor,
.C. 8| 0RG2 Origin sensor
) : -
E = 9 | Power input (V) | ‘ Vin s 9 |Power input (+) substrate
3 [10] ORG output 70| 0RG1 I (ORG1)
@ 11| Power input (V- 6ND | '— 11| Power input () —H
3 12| FG. egulator 2 !
2 1 FG . I
= = T Slit origin
12| 2] sensor substrate
[Stage connection diagram] [Connection diagram(Sensor)]
Pigtail connector model : HR10A-10J-10P(73) (HRS)
:2 Panel mount specification : Connector model : HR10A-10R-10P(73) (HRS)
=
[~
=3
@D = 2 phase
= 1 [ Motor lead B (Blug) |——— Blue stepping motor
9; 2 Motorleadl_!iked) }*Red
3 | 3 | Motor lead A (Green) Green Regulator
T 2 (4 Motor lead A (Black) Black ==
=3 5 | Power input (V+) ‘V'"
- 6 | Power input (V- ) GND ORG
= [7 [CWLS output
o [ 8] CCWLS output
@ |9 | ORG output CCWLS
= 10[Fe. .
w = [
3 =
=

* Cables @ P. 1-207 ~



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-

6403-4513 FAX.+81-6403-4514

Motor - Electromagnetic brake 2
o
Motor code [=g
Model (*1) 3 Sensor 4 Sensor 3 Sensor 4 Sensor 2
Type 5 phase stepping motor (0.35A/Phase) ﬁ'
Feature With electromagnetic brake [[J42mm (1]
Model*1 PKE545MC-A1 o
Step angle 0.72° m
= Full/Half 2um/1ym -
g: Resolution| Micro step 0.1ym g
) (1/20 On resolution) g o
& With electrc tic brake Available
g Manufacturer Oriental Motor Co., Ltd.
§' mass 0.52kg
S Motor size | Imsi7d []42mm -
= | L size 75mm X
Excitation (moment) torque 0.27N + m
Driver model RKSD503M-A [ RKSD503M-C
Driver power input Single phase AC100-120V 50/60Hz Single phase AC200-240V 50/60Hz -
Brake power input DC24V+5% 0.08A
Model Motor 5557-06R-210 (MOLEX)
= E gnetic brake 5557-02R-210 (MOLEX)
S | Receiving Motor 5559-06P-210 (MOLEX)
connector | Electromagnetic brake 5559-02P-210 (MOLEX)
= CW Limit
5 Sensor S5B-ZR-SM4-TF (LF) (SN) (JST) m
2 Model Origin sensor (ORG1)
Sl 9 Slit origin(ORG2) — PM-L25 One end loose | — PM-L25 One end loose -
2 CW Limit
= | Receiving Sensor ZHR-5 (JST)
connector | Origin sensor (ORG1) Goniometer
Slit origin(ORG2) -
Limit sensor Available Available Available Available
Origin sensor (ORG1) Available Available Available Available
Slit origin sensor(ORG2) — Available — Available
» Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
3 Power-supply voltage DC5~24V=5% m
i Current consumption Total 80mA or less
§ Control output NPN open collector output DC30V 10mA or less
(=5

Output logic

Sensor logic option A

continuity: On detection : Output transistor OFF (Non-continuity)

Sensor logic option B

continuity: On detection : Output transistor ON (continuity)

Controller

Sensor logic option C

limit continuity: On detection : Output transistor OFF (Non-continuity)
Origin continuity: On detection: Output transistor ON (continuity)

*The electric specification of XY (PMG), Z (PZG), XYZ (PMZG) are the same.
%2 © P.1-213~ for details of single motor specification.
*3 Model is our own management model.

Linear
Ball

[Mating cable] Model:CCO30VPFB(3m)/CCO50VPFB(5m) *For fixed use

CAVE-X
Driver Side Motor Side Driver Side Motor Side Linear ball
Connector:5557-06R-210(Molex) Connector:5559-06P-210(Molex) Stick Terminal:AI0.5-8WH Connector:5559-02P-210(Molex)
(Phoenix Contact) —
| § | i S ——— [ i
g 8omm kS Cross
3m, 5m 3m, 5m Roller
[Connector diagram(3 sensor)] [Connector diagram (4sensor)]
. . —
Power input (+) Brown T Power !nput (+) Brown T
Power input (-) Blue T2 Limit sensor, Power input (-) Blue T2 Limit sensor,
CCWLS output _Biack |-+ Origin sensor CCWLS output _Black |-+ Origin sensor IEZS
ORG1 output  Yellow 1Te substrate ORG1 output  Yellow 2 14| substrate m
CWLS output _ white |-+ (ORG1) CWLS output _ white |- (ORG1) e
|
.
Power input (+)  Brown C80
Power input (-) Blue o -
ORG2 output (OUT) Black %‘;ggg'" Sensor | Ooo
ORG2 output (0UT2) White m




abelg pazuolo

Goniometer

Linear
Ball

CAVE-X

Linear ball

80

| Motorized Stage

Electrical Specification: PG Series

Motor Specification

Motor code PA [ ZA
Model (*1) 3 Sensor
Type STEP (AR Series) STEP (AZ Series)
Feature Small step-out ,incremental Small step-out ,absolute
Model*1 ARM24SAK AZM24AK
5 With electromagnetic brake —
S: Manufacturer Oriental Motor Co., Ltd.
E Step angle 0.36°(1000P/R Setting)
= mass 0.15kg
[ — [ [Clsize [128mm
=4 | L size 45mm 54.5mm
23[ Excitation maximum torque 0.055N + m 0.095N « m
Driver model ARD-K AZD-K
Driver power input DC24V+10% DC24V+5%
Brake power input —
5 Model 43025-1000 (MOLEX) | DF62B-13EP-2. 2C ((HRS)
g Receiving connector 43020-1000 (MOLEX) | DF62C-13S-2. 2C ( (HRS)
CW Limit Sensor
g Model | Origin sensor (ORG1) §5B-2R-5M4-TF (LF) (SN) (JST)
3| Slit origin(ORG2) —
glg CW Limit Sensor
= (R g—— ZHR-5 (JST)
connector Origin sensor (ORG1)
Slit origin(ORG2) —
Limit sensor Available Available
Origin sensor (ORG1) Available Available
Slit origin sensor(ORG2) — —
v Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
% Power-supply voltage DC5~24V+5%
3_ Current consumption Total 60mA or less
8 Control output NPN open collector output  DC30V 10mA or less
= Sensor logic option A On detection: Output transistor OFF (Non-continuity)
’ Sensor logic option B On detection: Output transistor ON (continuity)
Output logic — — - - —
Sensor logic option C .I|r_n|t cont.lnu_lty:On detect_mn: Output tran§|stor OFF (Nop-cpntmmty)
Origin continuity:0n detection: Output transistor ON (continuity)

*1 The electric specification of XY (PMG), Z (PZG), XYZ (PMZG) are the same.

*2 ©P.1-213~ for details of single motor specification.

*3 Model is our own management model.

Pin allocation - Connection diagram

PA ZA
[Receiver cable] Model:CCO30VA2R2(3m)/CCO50VA2R2(5m)*Flexible cable [Receiver cable] Model:CC030VZ2R2(3m)/CCO50VZ2R2(5m)*Flexible cable
Driver side
) _ Connector:55100-0670(Molex)
Driver side Motor side
= Connector:43025-1000(Molex) Connector:43020-1000(Molex) Motor side
=) r 1-794617-0(TE Connectivity) or 1-794615+0(TE Connectivity) Connector:DF62C-13S-2.2C(HRS)
S I 1) | Driver side
= =
3m, 5m g ‘ ‘ Connector:J11DF-06V-KX(J.S.T.MFG.)
| 3m, 5m
PA
ZA
[Connector diagram(3 sensor)] [Connector diagram(3 sensor)]
o Power input (+) Brown Power input (+) Brown
@ ; 11 e - 1101 o
2 Power input (-) Blue A Limit sensor, Power input (-) Blue Ak Limit sensor,
o
= CCWLS output  Black AE Origin sensor CCWLS output  Black A Origin sensor
ORG1 output  Yellow substrate ORG1 output  Yellow substrate
- 414 - 414
CWLS output  white 515| (ORG) CWLS output  white 515] (ORG)




URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

<
o
Motor code UA (=g
Model (*1) 3 Sensor 2
Type Servo motor J4(Mitsubishi Electric corporation) ﬁ'
Feature High speed ()
Model*1 HG-KR053 Q
g With electrc ic brake — m
< Manufacturer Mitsubishi Electric corporation ~
"-‘f Step angle Both absolute and incr 4194304P/R) g
= mass 0.34kg )
2| Motorsize [ [size [J40mm
=4 L size 66.4mm
= Excitation (moment) maximum torque 0.56N + m
Driver model MR-J4-10A
Driver power input Three and Single phase AC200-240V 50/60Hz
Brake power input —
= Model E'r\:l;;g;r Manufacturer standard -
g Receiving Motor JN4FT04SJ1-R (JAE)
connector Encoder 1674320-1 (TEConnectivity)
g CW Limit Sensor $5B-ZR-SM4-TF (LF) (SN) (JST)
g Model Origin sensor (ORG1)
g|o Slit origin(ORG2) — W
2 CW Limit Sensor
S1OF g = ZHR-5 (JST)
connector Origin sensor (ORG1)
Slit origin(ORG2) —
Limit sensor Available -
Origin sensor Available
Slit origin sensor —
» Sensor Photo microsensor EE-SX4320 (Omron Co., Ltd.)
2 Power-supply voltage DC5~24V=5%
3 Current consumption Total 60mA or less
§ Control output NPN open collector output DC30V 10mA or less
= Sensor logic option A On detection: Output transistor OFF (Non-continuity)
Ui Sensor logic option B On detection: Output transistor ON (continuity) m
Sensor logic option limit continuity:0n detection: Output transistor OFF (Non-continuity)
Origin continuity:On detection: Output transistor ON (continuity)

*1 The electric specification of XY (PMG), Z (PZG), XYZ (PMZG) are the same.

*2 ©P.1-213~ for details of single motor specification.

*3 Model is our own management model.

*4 When constructing an absolute system, it is necessary to install a battery in the amplifier.

Controller

Pin allocation - Connection diagram

[Receiver cable] Model:SVPM-J3HF1-B-[1-02S *Flexible cable [Receiver cable] Model:SVEM-J3HF1-B-[J*Flexible cable
% % [:3@3m). 56 .
%02 3@3m). 56m) # L2 3@m), 5(6m) Linear
Ball
[Motor Cable] [Encoder Cable]
Motor side Motor (encoder)side Connector:1674320-1
) Connector: JNAFT04SJ1-R (JAE E tivi
m Loose wire on U8 Servo amplifier side (TE Connectivty)
3 the servo amplifier side NA3CTR-18-4(MISUMI) Receptacle : 36210-0100FD (M) CAVE-X
=3 % / ULAWM2517 AWG18 ShellKit ~ :36310-3200-008 (3M) NAMFSB-23-3P (MISUM) Linear ball
= o ] ‘ ' m ULAWM2576 AWG23
=T | ‘
200mm 3m jr03g]m ,5m jr(j]?nom 1o s 3m fuso 5m 5150 *The load drawer
UA
[Connector diagram(3 sensor)]
(g .
z Power !nput (+) Brown T
= Power input (-) Blue T2 Limit sensor,
CCWLS output  Black r Origin sensor
ORG1 output  VYellow 2] Substrate
CWLS output  White 51s] (ORG)




abels pazlojo\

XY

Goniometer

Linear

Ball

CAVE-X

Linear ball

Cross
Roller

Slide
Guide

(170
(780

| Motorized Stage

Electrical Specification: PG Series

Timing chart

4.’3{.7 S...Interval of origin slit (detection)
i orii Undetected point Undetected point
The origin Slit origin sensor (ORG2) Slit origin (ORG2) ligtﬁeegtauepgfmligm enlrance) (mn lhees1:gepgiln\ightentmncel Slit origin (ORG2)
end face Opposite end face Detection (ight shield condition) Detection (ight shield condition)
/ i Mechanical stopper / N Mechanical stopper
|—|_| L,—' j @ O / Undetected point Undetected point
S n L - nthe stage oflight ent nthe stage oflght ent -
o 3 o COW Limit Deion ot ol oo Dteion oot COW LIt
[ Undetected point Undetected point
L 0|'|g|n sensor (0RG1) (in the stage of light entrance) (in the stage of light entrance) 0r|g|n sensor (ORG‘])
CCW Limit Detection (ight shield conition) Detection (lght shield condtion)
CW Limit Undetected point Undetected point CW Limit
- imi nthe tage oflight ent the stage ofght e imi
N Origin sensor (ORG1) cion et it rge Dcion b S
W Limit (Opposite side of the motor) CW CCW (Motor side)
L Mechanical CW  Opposite Theorign CCW Mechanical
PA and UA are 3-sensor specifications limit  Limit endface endface Limit limit
Unit [mm] Direction of CW & > Direction of CCW
Reference coordinate Mechanical limit CW Limit  Opposite end face Origin CCW Limit Mechanical limit
PG413,PG513 Return to origin 7.5 7 2 0 7 7.5
PG615-PG715 Return to origin 8.5 8 2 0 8 8.5
PG430-PG530 Return to origin 16 15.5 2 0 15.5 16
PG650-PG750 Return to origin 26 25.5 2 0 255 26

* Return to origin means that is performed return to origin type 3 using DS102/DS112 series.
*The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 mm.

4compatible with sensor specifications

Unit [mm] Direction of CW <& B> Direction of CCW
Reference coordinate Mechanical limit CWLimit  Opposite end face Origin CCW Limit Mechanical limit
PG413, PG513 Return to origin 8.0 7.5 2 0 6.5 7.0
PG615-PG715 Return to origin 9.0 8.5 2 0 75 8.0
PG430-PG530 Return to origin 16.5 16.0 2 0 15.0 15.5
PG650+PG750 Return to origin 26.5 26.0 2 0 25.0 25.5
Common Slit origin (detection) interval S=1

* Return to origin means that is performed return to origin type 3 using DS102/DS112 series.
*The coordinate is a basis of design value. Dimension error may occur about plus or minus 0.5 mm.

4 standardization of sensor specifications (PG)

PG series have built-in sensors as below. M The connecting diagram that connected to our controller using standard attached
cable is shown as below.
Limit sensor (CWLS) Controller Standard cable PG motorized stages
=) =) =)
Origin sensor (ORG1) @ [ ——] :mj
Limit sensor (CCWLS)
‘The function of terminal on the controller side - - The function of terminal on the stage side
Slit origin sensor ([A]]A] L1
(ORG2) [ [c]lc] 12| [2]]
Motor { E||E| 133 } Motor
00 o o o [s EujEni
Gl ][] 15 ][5 ]/
| CWLS input L | L 1 6 | | 6 | CWLS output
— CCWLS input M| M 1 7 | | 7 | CCWLS output
NORG input N | [N | —1.8 | | 8 | ORG2 output
ORG input 0|10 ﬁ 1 9 | | 9 | Power input (+)
Sensor power (DC5V (+) | P | | P | 110 | | 10 | ORG1 output
Sensor power (DC5V (-) | R | | R | 111 | | 11 | Power input (-)
= S ||S | |12 | |12 | FG
_ T|[T1]
FG ujlu |

The CWLS(pin#6) and CCWLS(pin#7) on the motorized stage side are connected to CWLS(Lpin) and CCWLS(Mpin) of controller as usual. However ORG2 output (Pin#8) is connected to
DC5V(-) and ORG1 output (pin#10) will be connected to ORG. n other words, the sensor of ORG2 does not work on this wire connection, only ORG1 sensor is recognized by the controller
as origin signal. As a result, return to origin should be done without the slit origin sensor as same as function of motorized stages that have only

three sensors (CWLS, CCWLS and ORG).

@About a correspondence cable for a slit origin sensor (ORG2)! 3% See page © P1-207. 209~for details.

This series are included four sensors as standard. In case of using four sensors with slit origin sensor (ORG2), you need the cable for four sensors. Should be selected cable code 5 (without
cable), and order the cable for four.
When use all of 4 sensors, please select the cable for 4 sensors from page (P.1-207~.



URL:https://eng.surugaseiki.com/ Email:e-ost@suruga-g.co.jp

TEL.+81-6403-4513 FAX.+81-6403-4514

PG series recommendation return to origin method

[Type1] Detect in the direction of CCW and perform detected  [Type2] Detect in the direction of CW and perform detected

[Type3] Detect in the direction of CCW and perform detected [Type4] Detect in the direction of CW and perform detected §
process for CCW edge (a point) of ORG signal. process for CW edge of ORG signal. 8.
<Origin COWLS Point a CwLS <Origin cewLs Point a CwLs =
detection process> detection process> [Type9 N
ORG ¢ <pond . ggfed After finished Type3, perform detected process 3
\1 L speed Lspeed( ( o for CCW edge of TIMING signal. »
sD Starti Starti Starting Starting L speed
i ;SDPeed poiit=grg1 ; posit:gﬁ ) positon 2 [position 1 i gp ? ﬂ speed 5"
f“ L speed D Q
P06 J06 ] " o
. F specd Loreed " [Type10]
spee Spee 5 ..
Ls‘:,eed Fpoed S,a,zn biton3 | o After finished Type4, perform detected process
LD, ™ Strtng posion3 Fpeed Liged SEesiond for CW edge of TIMING signal.
i :e?ﬁgdal_ls"fdz‘:nazrug‘.ea %s%ee: L speed rlJD g%g:alhsn:dr&e:gtsﬁz
sty 1 10 J06 ] <6t a decelerating.
and stopping.  JD ’— J0G Fpeed and stopping.
ot R
spee .
L;Bzed L opeed r—l ;t]asrltt:gg 4
Starti JD
pazit:gg 4 (—‘ o o —‘ _
JD( - W
@Select return to origin type from the followings when use the slit origin sensor (ORG2). -

process for CW edge (point a) of NORG signal. process for CCW edge (point a) of NORG signal.
Next detect an edge of CCW side (point b) of ORG signal. Next detect on edge of CW side (point b) of ORG signal. Goniometer
CCWLS Point a CWLS
P—— (;CWLS Point a owLs <Pty igh decion pcess> [Type7]
Tl O s NoRe Atter finished type1, perform detected process Rotary
< \[m L speed ( o for CCW edge (point c) of TIMING signal.
SD i i Startini Starting
L Starting | Starting rting o Lspee
?,*I Fapee - speed - lion 1 [ oson: position 2. positon 1 "] f:p%‘:géﬁf
; L spee i
|_V _|*_Starting position 3 F speed F speed Starting position 3 * v|_D
O Lot NESPee0 L speed 8 Controller
2&;&‘:!'9&33?2&'? i "; :P:g: L speed—] ﬁ?ﬁsi‘é".‘.’.}!ﬁéﬁf [Type_ ]
. and stopping e Lsgeed F speed P ocalerating After finished type2, perform detected process
Starting Startng s | L spge[:Jd \1 for CW edge (point c) of TIMING signal.
<Origin ~ position 5 positon 4 - —P‘ - ip:e - Lspeed ] Starting position 4 | Starting position 5
detection process> Mn Ill? iR <0rigin Poirit b
ORG detection process> H |—|
(Turn OFF a point SDi— L speed ORG =5
detecting sensor) il L speed (Turn OFF a point | L speed -
o 11406 detecting sensor) L speed A
Paint b Yip
ORG I I} - [ J06 {1 point
(Turn ON a point :
detecting sensor) V1L speed ORG —,--l r‘ |_|
JD ] :JoG (Turn ON a point SD
detecting sensor) Lspeed[ "]
JOG {[]JD Li
inear

Ball

Return to origin sequence © P.1-201~

CAVE-X

Linear ball

Driver selection

M Driver © P.1-205~
DC24 type input

Model CVD507-K-A9 CRD5107P
Divisions Micro step (1/250 On resolution) Micro step (1/250 On resolution)

For Stepping motor controller

M Controller @P1-197~

ower General-purpose input/ Driver type (Divisions)
P output port Normal ( Full/Half) Micro step (1/250 On resolution)
None DS102ANR DS102AMS
AC100-240v Installed DST02ANR-10 DST02AMS-10
DC24V None DS112ANR DS112AMS
Installed DS112ANR-10 DS112AMS-I10 DS112/102 (170

(180

1-PG

o
H



	PG-001_002_EN_g
	PG-003_004_EN_d
	PG-005_006_EN_d
	PG-007_008_EN_e
	PG-009_010_EN_g
	PG-011_012_EN_e
	PG-013_014_EN_e
	PG-015_016_EN_e
	PG-017_018_EN_g
	PG-019_020_EN_d
	PG-021_022_EN_d
	PG-023_024_EN_f
	PG-025_026_EN_d
	PG-027_028_EN_d
	PG-029_030_EN_g
	PG-031_032_EN_d
	PG-033_034_EN_d
	PG-035_036_EN_g
	PG-037_038_EN_e
	PG-039_040_EN_d
	PG-041_042_EN_c
	PG-043_044_EN_b
	PG-045_046_EN_b

